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c c
GBOOr]OC)(DII

print("Hello World!")

(o .
3200000] code 2 om variable ¢ eo’]orlq?su

counter = 100 # An integer assignment

miles = 1000.0 # A floating point

name = "John" # A string

boolean = True # Boolean Value True and False only

print (counter)
print (miles)
print (name)

print(boolean)
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Bit and Storage Data on Memory
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Computer & 0 ¢ 1 0 §0looudi 0 6w0d C 1 60 333103 bit o eslGlodwdn

8 Bit 0% 1 Byte C\c?) e3al0looudn 8 Bit e?eoaomeoo; binary system 329 00000000 mM6§

[§2e02p 11111111 05 §looddn

binary value 11111111 or% decimal e@)éz 255 Glmoo']oo(f)u

o
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. oC OC
3lom 8 Bit & egaf,c
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.. 0O C co . N . ofe o C
Integer U0 32 Bit ﬂo']oooou Integer 0050260 unsigned .§05|gned a?bz ﬂo’]mwu
Unsign uo 326012 0352603 O [400) 320006(03p¢E 32 bit 32(gp) 320d:[gISCulonwdN
Signed 0602 +/- ©020lan0) 3303(756@3&;: 31BitoO 33:)??3@[%{:0']0305" 1 bit or%
o ¢

c c o c o c c
c0x 3’360'108 (A} 3’3‘J§|_O’JC\')'JS &BS@O’)(@ 33080’3608(\?(7) 0100V
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Or]OOLDII

3.
—

o C
96&)0§80

Bit GOTEJD clzfooé@s Integer oo%fgzor% 0906
(2 ~ [Total Bit]) - 1

A ooé power @ogooéu

:ﬂe@o{; 8 Bit 330)(738?361680’)?

o

(2~8) -1
= 256 -1
= 255

Sign Integer 33@6 303 O ‘%83 oM @éqceooo
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. [o] o C [
31 Bit 03 sagpsadzconzonwdil sle(opé

(2 ~31) -1
2147483648 - 1
2,147,483,647

o[e c
&)[98 G]_C\TJOf]UJ(DII
L

C cC O C N C o co [of % C o [of c O

OR|$60220D 32§|00 §), 32$P08308 0D§(s V000 SC 632DNOD BUIDIEQM) ooqjoo@ ol
[of
ool

Binary Value Two's complement Unsigned interpretation

interpretation

00000000 0 0

00000001 1 1

01111111 127 127

10000000 -128 128

10000001 -127 129

10000010 -126 130

11111110 -2 254

11111111 -1 255

N

2} C [ o . co C . co C o
3 table €3 9000900 260 Binary 00§0s § 3200VOM Singed 00§08 | 6§D

o

. co
60 Unsigned oo§@z0l

C cfe o N o . o] C o ¢ C . C
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:ﬂe@oc:: 632000Mm equation %Integer 61 Max range 0'% 03(73(\% elorlooosu

- (2 ©~ [Total Bit]) to (2 ~ [Total Bit]) - 1
:ﬂe@oc:: 32 Bit Integer Signed 0’% ogo%@éqéeoo?

- (2 ©~ 31) to (2 731) -1
= -2,147,483,648 to 2,147,483,647

Unsigned (fl) og(f)sl{:eoo? 32 Bit %@é $°ogr75610']e()5||

0 to (2~ 32) -1
= 0 to 4,294,967,295

C
qc\no']eoou
Float me02) 32 Bit é’]oploooSu
32 bit &
e Sign 1 bit
e €xponent 8 bit

e Mantissa 23 bit

binary value 0 01111100 01100000000000000000000

c
(03

1—80
~Co
oQ-

c c
CI?O)(S]Q(DII

R

Sign 0
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exponent 01111100
fraction oo 01100000000000000000000

sign 0 (400 3209056(MPE +

1+ SUM ( i=1 To 23) of b(23-i) 2 ~ -i
Se[opé

1+2”7-2+2"-3=1.375
exponent 0 01111100

2~ (e - 127) = 2 ~ 124-127 =2 ~ -3
value = 1.375 x 2 ©~ -3 = 0.171875

sle[op¢ 0.171875 03 binary 001111100 01100000000000000000000 3264,

oc c c
ODGSSO@SO (08]0u]]
Float 0 o€ oc¢ r] c
Oat 02O 30000 (2 G§6T)® OC.)@O§LCO (0a]00]]
c _c co
Gc?’)()OG)O 30000 031?&08006030) Double O’]II

C

Double meox) 64 Bit é’]o']ooof)u Double mmeo3) 30000 16 e§6[308 236:8CClonudn

I—Oﬂo

. cCo (o C
String o0§6:0602) character storage 60lgn goopd0lonwon

e ASCII 383616 1 Character 8 Bit
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o UTF-8 20qC 8 Bit meg 32 Bit (4 Bytes)
o UTF-16 20qC 16 Bit me$ 32 Bit (4 Bytes)
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3200 G:?GT) OkIDLOpIU)(DII
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k=5+4
print(k)

(A]e)
3o
8.
3o
8
85
:
3
=

oc o) c ©
00<§8 J ? (T.L) GOr]ng)')SIgSGO’Jo) G]_C\')

61& :I)()SO’JOS‘.)&JQ') GG]_SO’]OD(ASII

o0
0O~ ™
a
En
8o ~

. [o] C
programming &> data 60 0O

5+1=26

[ N -] (o .
ecl)@z G]_O’]CDODII Programming €>602)

O (e C C Y o] O . ~
&)[93 861861(;]0303" 6m 61('.\)30’]" 61('.\7)03 336[;(](73 k 00D variable co 3003
L ° [ L °

38@: eqzo’]oou%us‘aé]egqcc: k 00w 6 occ::nozo']@u
L L 1 o

a=3
b =4
c=a+b
print (c)
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a @) 3 ool b 00 03 4 copdi [Geay|C a §,b 03 s0lCan §Eo00) 326(¢MD € 0O COPY(Gs

c0x 61(1')5 @%G?US[QG)’)SO’]OJOSII
c
3’35[0’)
J

3?80']63 3’30’%&301(3" 3'5?[0’3 3?0’808 - 0’(.:? 3’50{)8[9[0']0.)(18"

a =10
b =4
c=a-b»b
print (c)

c
336@)“)

o

c c . 0 c
3’38[5’)(7)3’3(7800 - (7? 33&?8@[0100(0"

oy
I}
v B~ W
— %
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print (c

o
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32002 3308(7) / O? 330?3@'_0’]0)00"
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[of (o) ) [o] o "] [of
32|0QCM % 2a) saa?s[glo lea]8%]]]

a =13
b=28
c=a%h
print (c)

Problem Solving

. o £ .\ 0 ¢ o} c c
Programming 0? GGloOJDoSTDS-D Oqu (YOJO%OC [9003?’)603 (T? G@ﬂCo 61033808 Or]OCO’]CD
()SII 3’3058@[&)60) @05&?05 @OJO@GO’)U% C\')()SC\)(SO)(D 6@6]6860880 program GCD(Y?)

L IL o ° o L O ° IL 1 [ o L

ro o o T o f] Q
0I5 602:631 6§26 0I0OWON

oc o O Co e ¢ c c o c
goe:)nu m.§z J QM C\)(YJSO']II [9861C J 9 GOr]CSC\)S(D (I)O’J@O’]II
L L L L L

N o

Q00000060 MI§60D 0D 32 2 03001 [§26C c0lE: [§2 g0
2U00Y 5 RI$607 03 3654 0382 | 093 COMBLWI [9°qc culé: b qo? sae@
(o] [of O C o N
M 0560:0305§ A0
L L L L

o o . C [o] % . o] o C
33:1?3@[030? input copeL:Y 320M python3 €60 input M %a?z[gloqoowu

user_input = input("Please enter something: ")
print ("you entered", user_input)

.~ O o o ¢ [
323 code 6003 python 3 €2 run COMEC

Please enter something: hi

you entered hi
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O (e oc C
e?@: @o’]mgewu

c c o . Co c Co c (e c (e
ogﬁe(n)d% user Input COMMa 000D (.\?8 C\)O’JSGIGS’B’)CII [936(73’03 GOf]CS[(_.jS

Ccs
|—80
)
(@)
3o
—;&3")
(G

[Joss) 61(\)5093 oceoSeo:éL’]o'](}u

inputl = int(input("Please enter first number: "))
input2 = int(input("Please enter second number: "))
result = inputl + input2

print (inputl,"+",input2,"=", result)

Please enter first number: 5

Please enter second number: 89
5+ 8 =94

MI$607D0 user Dmes data 0d “C0MDOD 323l string value 32688 §0D0loOVI
3|% D $ i ® g %9

. v~ O C s C C . o o C
integer 32688 CV]|COD zaorgooe@og int() o2 saa?z@[ooozo']cnoan

inputl = int(input("Please enter first number: “))

o _C o C C o ¢

o) c . . C c
-?OU)(Y? LOOG) 0GOZC\?(YJG()@()A? string 3’36§§°OCC\7)O']CDODII

o

input me$ user 326§s

. N C O C C C o C C
int() & e[gpC:00050) F09006(NPE S00dgUloWdN

(o] o

a = II5II
b = II6II
print(a+b)

string | 0% eo’]ézooé 399’]90 11 32028 56 @030333033(7% eogoelg)o']u

String ;soog(fé int e@oé:auéome@oct: int() (Tcé sao?g@[elcﬂoougu
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a = ||5||
b = ||6||
print(int(a)+int(b))

c
3’3? 00 806’3 32600:6Q0: OJ(D?O,]II

6§ (G2 0Dz §&D M 3200:(g[AM 0§2603 BCOPI0 BIGERCVPO: MDY SCOOWIN
C [% [ [ C O (e [o] (o] C e 0 O cocC
0N§2603 BUI0DEC N2 C0PY0lD(Gs message (4§ O LON 3ady|: [(§oSCe(3

Qo260 programming 6§:0d 329] 0000 VloWdII
9 AR, 893 2202203

e o c o c c c . .- c
3’33(\)6”[8 00w 320000 G'?D(D 3’38?86’36 Iooplng 60 condition 60 336@’)08 66180338
o 1l 1 o o o
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C

program a3 python3 & [§(Q: e6:(13p0§ scvmy Caseay tlocalewdi

Pseudo

Pseudo code er%ooomeoog sacrgsaeoooé code eo’lu programming > language S%ﬂlz
eﬁlg é’]@:em? language ooor)elp %OOOS?QJ:D o']of:o*; function eo) eo?Lo']oplgu 3’]@@9{: ogﬁ
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anguage oo04]|: @oao? 32000 IDVOCVY|[2 663§V SPODM 3200320 ooooejsoo[9°
o ’] o (o] (‘o C t I 2o o o (‘° . . t t I
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1

qoladoeud
o (o C
pseudo code poed 600203 (3P0 E3NC

If student's grade is greater than or equal to 40
Print "passed"

else
Print “failed"

) d . o ¢ . . lish o) f]\ c. WA c c ¢
3 code GC\%?’J &:L)G]_C 661000'30(7)3(73 englis C\?O oll G(T,IPCOOO')O 610 3’3?03(7) 90 G(QJ’)G]_C
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o SEQUENCE 090000 32000 3230C30¢C M 6 zoooz@cz
C
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e WHILE coe0) loop saogmo']n 03l o3l S'a@e[z_qe Q0W s'aogmo']u 02003200
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o
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condition 60 saogmo']u

a »n O C cCo C s C C C s C C C s
o CASE me0) condition 32000000 oo)(lgo']u 1 @o)@elc é]o?ou 2 @ogqc sf]a?ou D @og

¢ 3loob ®ome0n 3200000
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e FOR meom) while isaogq;y’]ou 060V FOR 006030 2000ME§ IDVOI20PCE SPON

C
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SEQUENCE
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Programing S?O’D’J(D sequentlal &?03)0? (QJ?GUJ) 338:%8 0 ?’) G@')?O']OJLDII (7)0)?[98?
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READ height of rectangle
READ width of rectangle
COMPUTE area as height times width
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C

) o} o ¢ N c N o) c
3 code GC\DSO? @@C\?(DCD’) DC;](D’J area 08(73&)’3809 code es00s &?0)’3 nf)SC\)e OgDSO’J

C . o C o C . o C o C o C . N . o cre
oI height 03 comsewdn width 0 comaewll [9861C height § width o) e@om[g:eoo?

c
area 61(.\7)6(1)"

:3']0?3 python %@%qu@éeleméu

height = input("Enter Height Of Rectangle: ")
width = input("Enter Width Of Rectangle: ")
area = int(height) * int(width)

print("Area is ",area)

Enter Height Of Rectangle: 40

Enter Width Of Rectangle: 80
Area is 3200

Y [ C

c c N . c c
(T&WGOJ) GG]_S(I)’)SOOJ python code u» programming 0>020D QIDL CDO)GOD’)(T)SBOQ(D

o

c oc ¢ co C s c c o} coc c
LOCDC\')(TJGlC @8@@@ 2003000l Pseudo code 006020 90002) ©30 &8 8§CGS’B’JC
L lo ° IL L L

eqsoaozooozo’]m(f)u

. C C o C cC O o
Input, output, processing 603 32000 6300l keyword 603 (Q|$602D0) 39:1?:[9[0']

c
(0p]00]]

Input: READ, OBTAIN, GET

e Output: PRINT, DISPLAY, SHOW

e Compute: COMPUTE, CALCULATE, DETERMINE

e Initialize: SET, INIT

e Add one: INCREMENT, INCREASE, DECREMENT , DECREASE

O'.)CD'DGUC.?

~3o

o oc c
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Terminal
[o] [of o (o o (o
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f
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End / Exit / ( Return /
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Start
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o o . o C
3230200 607 End , Exit, Return 60M sao?z@lo']oooou

Lines with Arrows
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Rectangle

o o] . . (% C o
Flowchart > @0&e00) process, task, action, operation ©20p0320m sao?g@[of]oo
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o

Install the

Send the order Check the address
muffler
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Circle

(o C C ] C ~ 0 (of . [o] o C
Flow chat oo 326)03§ PO C DI300§, D WYIPORM circle ® mw:@lof]oooon flow chart
1 o o O I [¢] L L
C ~ C (o] (o cC O (o] C (o . C
0D03§, 020D CONNEeCt AYVCOIIODLIDONDM ew)@ooazoa@ 20comoli Circle 320QC:

o0 $6 C()r]OéOp'CDQSII
7§20

—E) &

o ] C N Cc C
B 80303)8[93803) 0WMD B ?@@D@DSO’]O’JOOII
1 L O ° 1 °

Input/Output

) o) C o c o ¢ 0 ¢ o O ° C
User ED(TD&% Data (T% C\)(DSGOJ?GOOS? Ce0) 3’3§)8[9|_C ODU%O (T? 3’3&?8@'_0100&)"
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/ Receive | Generate
data /' report

o € ° c c ) C o c c c
Oe§ 336@8 33’)2@0 Flow chart 3200 C’;]GQ)SGOJ OOOCDZG]_C C\)GCUDOOO’]OJQ)II OOH
L1 ° o o L

c o | N c c c
GCD’)CY.B’ Example 808 ‘?DUJQJ(D@@G]_GS’Z)CII

Hello World

. [o] O ¢cC oc¢ o N N
Programming 0 ©c000)|Cs 00L3V: eqsoao:@cg code meom Hello World ¢l 1

L
Screen 6060 9005a060l632C 0§03:q0UD 8306, 3200101

Pseudo code q? 386166000
o |_ o

print("Hello World”)

s O ¢
Flow chart § spgceom

Print "Hello World"
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Python $a0§Ce0

print("Hello World")

What is your name

c c o o) c c o T N S fe, ¢ ) o
3’3? (TgJéfGUJ’)Cf.L)O user O? ‘?’)Ge O’JODC\? 69IQ0 6LV [9061C user EID(DG.? E_’OGO’.TOD

Co C cC 00 C c (e \ . o (e c o [ C
QO3 @680? ﬂmm@[(__]SO’J'JiYOUI’ name IS &3[98 @680? OZL)(I)[QGODII

C o (o] (o
306§ Ca0: flow chart o8} @@o’]u
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What is your name

!

printthe name

@3616 flow chart 330%[83 code 093 eqsoooso’]oooSu

username = input("What is your name ? : ")
print("Your name is ",username)

\ 0 d o oc ¢ c [ ,] c (e, c oc¢ c o Mcre.
323 code 0? run CYL)OOq_C :?'38[133’36106600 (0p]00 [906039 (I)@CYL)OOOO (18] (Te [9:%[90

o, o,

% C
602 66d[4e0:lonLdN

Htains-MacBook:~ htainlinshwe$ python3 whatisyourname.py
What is your name ? : Htain Lin Shwe

Your name is Htain Lin Shwe

Sum
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Receive X

print X+Y

c c o [ oc, o} Co
33? (78]?80’330?060’8 user SO(T.)G§ (D§o J ? OCL) QO

Y [o] C
61(.\)’)003 3'36@(7? @GOSGODII

N [e) C C RN
Flow chat 00D EjoooaoaC\B cgwagwecozo’]on

x = input("Enter first value : ")

y = input("Enter second value : ")

print("X + Y =", x +vy)
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N

(
) o ¢ oc o O c c ° ° c c o} o
3 code o0 &)610 (YJ.§8 J QO G()']CSGOGLD OOQ03 J QW] G(ﬂCSCfJ’)@‘D&?O’J) m GO’JG]_O’]C\)
1 L L L ° L L L Oe
G

P0OMEC 66 M a0ld§ewdI
22N IJ5 % :

ocﬁ

GOSII 806’) S

o

C cC O N\ o cC O C o C O [of [of [of o (’o o ’]
ogﬁemdfoeog S'DG§ °§O(I)0? C\')O’JSG(DS?(YOJ 3’30’3006@')9 GS’B’J(TJO’JC\? G@')COGG]_QO
OJOSII
X = input("Enter first value : ")

y = input("Enter second value : ")
try

X = int(x)

y = int(y)

print("X + Y = ",x + y)

except ValueError:

print("Please enter number only")

o] o ocC C Y C (% S
323 code &0 try , except 800M 60301006 try ad¢d Error 00093 [gooms,

o c c N . c N \ coc
except 0? G&TD(DC\D’JJIGQ)II 33? code (I)E]:D int GEPCSOCD?,OOJ Gc‘fq)?’)() E"ODD-?) @@%CO’]
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05 e[t

[o] o
except ValueError: o %o?g@[mgooooflu

Condition

3loe059qC 3lerdeud 02P5(YE 326[g32650) PODPITIEPE0] F2MD MY($E0OT)
1 L °q L e o § L @ q) o o 0~I§ [

C

60y if , switch ©0) syntax 0’% 3’30{)3@[&1010’)05" o%eoeog Python 2 switch 0’15 support

c
GC\?OO’]O’IJLSII

c c 0 ) <, o Co C oc. o oo S o oc,
3’3? (T&I?GO’I)(IBO Oi)@ DM 0Ci]’.)§o J ? 0? QOMIaLWLIII m§o J ? (Y% 0000l ?O’)(X) O’Jc?o

m O?@@OS&%&I& 330\?8@[0]?(7% O?e G)é(\c?: 661()?_2&%61& error message BGOSII

o,

o] (o
Pseudo code 326§) SDECE0M)

Print "Enter First Number"
READ firstnum

Print "Enter Second Number"
READ secondnum

if secondnum is less than or equal zero

Print "Second number must be greater than zero"
else

Print firstnum + "divied by " + secondnum

Print firstnum/secondnum

flowchart 0% @éq@méu

o C [of [of
Python 09 e3> @@q@mc

firstnum = input("Enter First Number ? : ")

secondnum = input("Enter Second Number ? : ")
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try :

‘ Start >

print "Enter First Number”

eceive firstnum ;

print "Enter Second Number”

eceive secondnum/

NO secondnum <=0 YES
print *first number divided by print "Second number must
second number" be greater than zero”

print firsthum/secondnum

firstnum = int(firstnum)

secondnum =

int(secondnum)

if secondnum <= 0 :

print ("Second number must be greater than 0")

else:

print (firstnum, " divied by ",secondnum)

print (firstnum/secondnum)
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except ValueError:

print ("Please enter number only")

IS

323 code o2 é]eoooﬁéq& :ﬂco&e?eom() ﬁo’]eoozoooau

L ° L

c c o c c - o coc c \ 0 c
08]?603)0%608 U)‘D? ocom em condition 6080? ®®§CO“]CDOOII 323 3’30’8(73 pseudo

=]

\ [} N C o C
code § flow chart npe02) esg@em?oﬁloagu 632000 M python code 6oz 00|

[% C
60000 609 (300N

firstnum = input("Enter First Number ? : ")
secondnum = input("Enter Second Number (between 1-10) ? : ")
try :

firstnum = int(firstnum)

secondnum = int(secondnum)

if secondnum <= 0 :

print ("Second number must be greater than 0")
elif secondnum < 1 or secondnum > 10 :

print ("Second number must be between 1-10")
else:

print (firstnum, " divied by ",secondnum)

print (firstnum/secondnum)

except ValueError:

print ("Please enter number only")
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Calculator

3209 (QJ%GUD’SU%GU) 3?60']&8 GBSI_OS 3’36@)0‘5 3000: 03605 calculator ecos CDE)S 661861
L [ o ] 1 L ° L

[of
6320Cl

C o (o
326)C30s Pseudo code o)eelzo']eoou

Print "Enter First Number"
READ firstnum

Print "Enter Operator (+,-,%*,/)"
READ operator

Print "Enter Second Number"
READ secondnum
output = true
if operator is + then

result = firstnum + secondnum
else if opeartor is - then

result = firstnum - secondnum
else if opeartor is * then

result = firstnum * secondnum
else if operator is / then

result = firstnum/secondnum
else

Print "Wrong Operator"

output = false

if output == true
Print "Result is " , result

c ¢ c c o o ¢ Co c (e ¢ o)
Code m 60 ﬂCSﬂCSGC\)SOr]II (rgﬁeorno%eorg (?OOJ J ? QOMaWII E’SG]_C Operator (7?

Co c c (e o) c c
QOMD3LWVIIl operator GOT(J:D elfooe[gzeoog result 0? (I?O’J@GODII
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Operatorm+ — *x / cOm ©UD0D§C eo?m@o']o?[zu 323 320000 R|$600D0RE0
C
@eoo
(')
L

) c c o
E.’S GQ_SGDSCD’DO’]II C;]GOGOQ Operator ?DSG§S]_C result 0?

o
[z output = true s

3-

. o o C o
boolean variable 03 3200:(g|oloowdn output o3 ao

c o
O’J[QC\) GG]_GCD'DO’]CDSII
Lo ° IL

C [ o ¢ [o} ocC C
3’]6@39 false e[;pcsa?mooo 28 eorgﬂo']m@ewu

Python qieqs@éqesao&u

input("Enter first value : ")

X

y = input("Enter second value : ")
op = input("Operator (+ - % /) : ")

try :

x
1l

int(x)

y = int(y)

output = True
if op == "+"
result = x+y
elif op == "-"
result = x-y
elif op == "«*"
result = xxky
elif op == "/"
result = x/y

else :

False

output

print("Wrong Operator")

if output :

print("Result is ", result)

except ValueError:

print("Please enter number only")
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print(ValueError);

oC ~ o C C o \ C
Pseudo code S'acyfc:o']on boolean value 0o true @oe@o) ™ output == True § 006§
. . N C N o ¢ C
em?o']o?Lzu if condition oo true ¢ false saorgood]ou output o true value 5§ C 32000

(o} (o (o) (of (o (o
CQOEWII false value 09C saa?oecgoo']q?zl
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eogoqﬁs%z J-9

C
Geo§§o tol|

input("Ente

X

y = input("Ente
op = input("Ope
try :

int(x)

x
1l

int(y)

<
1

output = Tr

r first value :

r second value :

rator (+ — x /)

ue

if Op e II+II

result
elif op ==
result
elif op ==
result
elif op ==
result
else :

output

print("Wrong Operator")

if output :

print("

except ValueErr

print("Please enter number only")

print(Value

(of C C [e) N
3200M0RC em@oo:)zeooo Calculator code 28 flow chart egd]n

https://blog.saturngod.net

= Xx+y

= x/y

False

Result is

or:

Error);

,result)
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Looping

Looping er%cmmecnrg 003l b3l c\?f)or_} zaafleorg & saof?z@lo']cmf)u

806’3 o ('DG§ e 3’3&% Ofcé CDOS[QQJE)O)QSII 13(]8:0361660303 print 00 G@’)E)SGQSG]_O’]GQSII Sr]EJ)

QU.BCYS 3 (DG§ @ 3’3(1% G?O’S[QQJ(SQCSGU)? 9 8“] 6618616(18"

c c ) [ c o Cof@ O oc c o.c¢
0)@8’]0)0)8(\) user &)(T)G-? G‘?’DOOSCL)S 00?0?8(7? C\)(TJS[Sﬁ 323 33[_96 '33661 3200 C\?OO
c

C @ c c o . c
(I)OJ@G]_@OOII 323 338']6’) (ng‘?GOJ)OJGOD print o000
L 1 [ [¢]

~0n
©n
(32
(124e}
S-
8
o
)
-2
C
En

L
o \8 0 c . o ° oc c
@OC)GO’)’O)O’IJLSII 3'33(.\? 3’36@3’56?603 S’DO’g(TJ Looplng 0? 3’3&?8@[§CO 08100

o0On

. o o C
Looping 3a4||s@2:m0 cfeﬁzaog@
e For Loop
e While Loop
e Do While Loop

er%[(_?]z Q eﬁ[s é’]o']oooSu Python ©>602) Do While Loop (i:) support eag&ooogo']o?[zu

For Loop

o

oc c o c o ¢ o} ° oc c c
3’3[—96 3?661 G'DO’g(YJ 3?(7)3?0’{] UJ()D&LDS]_CGO’.)? For Loop 0? CS’DO?SB[&LCO.’]@ODII 0000

[

c o c o o c o ¢ o) ° oc c
('DG§ O’J(DOOG§ 03[88 0000 3200 ODCDOD&:L)&ICGO‘JOD For Loop 0? %Q?S[gl%CO']OJQ)II

# will print @ to 9

for i in range(10):
print(i)

print ("———-")

# will print 5 to 9
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for i in range(5,10):
print (i)

\ 0 o) oc ¢
323 code G(\)S('T? run C\?(’TJGlCGO’J?

© 00 NN O Ul A WIN P O©

O 00 N o U

o[e c c
8?[98 OQ(DCUDO']QLDII

range(10) e?t)ooomeooo 0 ME$ 9 300 0?6905 C\°? olooudi range(5,10) meo 5

8o

o) c ¢ ¢ 0.0
006§ 9 3200 S'BC\?OC\?OGOO C\%EI?(IT)O']II

c oc N C (e . ~n 0 ¢ o) o)
GBCD(DO’] code 330.?0800 for §°|00p 003[9880303 value 808(73 | OO('T? OCQg)SCYJD(T? 808;%

c c
CO’IU.)(DII

While Loop
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oC [o] C cC O o [ e C o] 2]
33[_963’36613’308(7.3 (R|$60700 ©0: é]cjseo?m condition 00099 M ooos[gseoog
C C o] o O C s . o o o
loop CQVECID: VEPVIDLNDE SPOIDNM AOF|COD gas']ejneoo? While Loop o Sfao?z[gla?o

0loo oS
count = 0
while (count < 9):
print('The count is:', count)

count = count + 1
C C C
OOOOC\JOOO@ GlC\DSOOGOO‘)
o 9, °

The count is:
The count is:
The count 1is:
The count 1is:
The count is:
The count is:
The count is:
The count is:

0o N o ol A WIN P O

The count 1is:

el

C oC o C . C C C
3200000] code 6c0: oyciapgceon while (count < 9): @ooo@ 3203006@')

o O C oc C
0 6§ 8 3200 M oceoo@o’]mgeoou

C C

. o O o C C
While Loop 0D 0§ CsaID6320C Flow Chart 6Q03M @@@@(ﬂu

1 o

- c o c c c c 0o o
condition m &9?6?00@ SI](TJ OOOS’] OOOS’] (X)OG§8(X)C\) &)O’.)’)()']II
1 L L e L

[of cC O =] C o (of [of [of C
0N M$60200) User s0mes 0 mes 9 3200C: $O0D 600C:000LIIl O 0nes 9 3200C:
B 3l? 2 ? ? 3C ¢ ? 3

c c c c o o c \ \® 0 O oc
0(1]’)?8 6()?0’)&)@ 08]?603’)0%608 user SDOOG§ GUJ’JC:G§?’)OII 3’33(\?6[”_8 3?@63’36613?

[of o] O . [of . o o C
000 3200320 ©§0) Looping 603320 while loop 28 mo?z@lorloooau
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Start

YES

v

— process

x = False

while x == False :
value = input("Enter the number between @ and 9: ")

try:
value = int(value)

if value > 9:
print("Your value is over 9")
elif value < 0:
print("Your value is less than 0")
else:
print("Your number is ",value)
= True
except ValueError:
print("Please enter the number between @ and 9")

o C S [o]

cC O (o} . cC O
8 code 0 oo o0 @@C\? §C while loop oo D00 6§6PE0Y €D 320C DDCD SO

[0}

0? GO&%CO OJODII
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Htains-MacBook : Downl Start we$ python3 code.py
Enter the number bet 1)

Your value is over 9

Enter the number between @ and 9: -10

Your value is less than @

Enter the number between @ and 9: 34
Your value is over 9

Enter the number between @ -nd 9: 3
Your number i

process

Do While Loop

Draft version 1.1

. . o N C C o c(roc C C C
Do while loop oo while loop C\?o']ou slevowd 32503303 ooo)[?_qe 33&30&300’]0900"

C

o

. [of o . o
Python €260 do while loop 320900 25:20¢ looping eﬂo’]o?L:n

sle[ogp¢ Java code 6oz 0 [0gp3(0gpd0

int count = 1;

do {
System.out.println("Count is: " + count);
count = count + 1;
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} while (count < 11);

System.out.println oo python oo print §030looudn

o C C o [

N O . o
323 code 230§ Cc602) Count is 1 ) 32§C3D: CQOD

c o0 (e c c o[e c c
OolI 0’32[386 count 0> 90 COM CLDG?C\T)S &?[33 0)0)0']0’.)03"

L il

N (-] C o C
Python § 32§:00 20 eelo[gemceoog

count = 1
print('The count is:', count)
count = count + 1
while (count < 11):
print('The count is:', count)
count = count + 1

d o) c _c
code (T? run @QQCGOJ?

The count is:
The count is:
The count 1is:
The count is:
The count is:
The count is:
The count is:
The count is:

O© 00 NN O Ul A W IN -

The count 1is:
The count is: 10

o (e c c
&?[93 (13(730730’]8()3"
c c o c 0 0 o c
3239 (T.&I?GO’J’)O’JGO’J GS’D’)OO(I)C\')EI”_S 0603 OOO’.)@
L [ o L L L

%
k&
kK ok
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c (e o} o)
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kK k%
kK k% %k

[0}

MI$60HOD 09036@35 230 §OPE0Y0V0 30§ C §ulodwdI 3levwWd Looping & 005[§°
O.I‘? o L L LG]. 61 s ping 'i °

c c c
G?OJ@@&]_GS’B’)CII
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for x in range(5):
print("x")
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for x in range(5):
for k in range(5):
print(ll*ll' end=“")
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for x in range(5):
for k in range(5):

print("x", end="")
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for x in range(5):
for k in range(x):

print("x", end="")
print(llll)
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for x in range(1,6):
for k in range(x):

print("x", end="")
print("")
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total = 0;

for x in range(10):
total = total + x

print(total)
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total = 0;

for x in range(10):
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1 is 0dd
2 1is Even
3 is 0dd

1 is 0dd
2 1is Even
3 1is 0dd
4 1is Even
5 1is 0dd
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0 code sz 5§630C
B ? (3229

list = [1,5,2,7,8,9,200,155]

# First Room
print(list[0])

# 9 will show
print(list[5])

# Last Room
print(list[71)

155

c o ¢ c c c o c c c c o o ¢
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list = [1,5,2,7,8,9,200,155]

#Total Room
print("Total room in array is",len(list))

Total room in array is 8

) o ¢ c c c CO s O o c
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list = [1,5,2,7,8,9,200,155]

for i in range(len(list)):
print(list[il)

O 00 N N U1 =

200
155

[of (o [of ~ (o N O N o C o cC O [of
G‘?')OOGDO O’J&)Co: 336-%?0 338?3(1)?’)?]02 §OCDG(78 3’3’)2(\?860'] H 61(\')30? G?O’J@
[of
C
list = [1,5,2,7,8,9,200,155]

X =20
for i in range(len(list)):

X = x + list[il]

print("Total:",x)

Total: 387

c c o c | o c d o o h | c o ,]
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00Ol oo[?pz langauge 606D VECE0N for each loop C\BeeTo']oowu

list = [1,5,2,7,8,9,200,155]

X =0
for 1 in list:
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X =X+ 1i

print("Total:",x)

Total: 387
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list = [1,5,2,7,8,9,200,155]

for (i,item) in enumerate(list):
print("Index :",i,"And Value :",item)

Index : 0 And Value 1
Index 1 And Value : 5
Index 2 And Value 2
Index 3 And Value 7
Index : 4 And Value : 8
Index : 5 And Value : 9
Index : 6 And Value : 200
Index : 7 And Value : 155

Immutable And Mutable
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t =1(1,2,3) # immutable
1= 1[1,2,3] # mutable
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list = [1048,1255,2125,1050,2506,1236,2010,1055]
maxnumber = list[0]

for x in list:
if maxnumber < x :
maxnumber = X

print("MAX number in array is",maxnumber)
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list = [1,5,2,7,8,9,200,155]

print(len(list))
326[goopd

A.@

B.»

C.(Z

c
683§§8 QII

Array [3,4,1,2,9,7] a%@ %o’]ooéu user 3BM %oorgo? m(ﬁé@z array 3’38%805608 les]

o

C ~

o] A C C N C cC O .
060D user o print OOQ)[QO’]QQII GODS(S](X) 3’33?3 000060 GO’JSOD&?(TJ print
Qo L L Qoo 1 Qoo L

gl

oooS@o’]e Sl

7 2
o (‘0

66298z Gl

N o o] .

o) Co € © o c c o} o}
Max number o) 6T30rhl O’.)OOI?()O’)OO 33@8808&" UD(DGBS«%S@’J G]CD'JC\D 300200 print |
L 1 L 1 1 L

o5 (Gl

https://blog.saturngod.net 69


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

Function
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def printHello():
print("HELLO")

printHello()
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def printHello(val):
print("HELLO",val)

printHello("WORLD")
printHello("Python")
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def sum(vall,val2)
return vall+val2

print("SuM : ", sum(1,4))
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list = [1048,1255,2125,1050,2506,1236,2010,1055]
maxnumber = list[0]
for x in list:
if maxnumber < x :
maxnumber = X

print("MAX number in array is”,maxnumber)

\ @ . o € 0 nNo c c o 0 c o
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list = [1048,1255,2125,1050,2506,1236,2010,1055]
maxnumber = list[0]
for x in list:

if maxnumber < x :
maxnumber = X
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print ("MAX number in array list is",maxnumber)
list2 = [1,2,5,6,9,3,2]
maxnumber = list2[0]
for x in list2:
if maxnumber < x :

maxnumber = X

print("MAX number in array list 2 is",maxnumber)
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def max(1lst):
maxnumber = 1st[0]

for x in lst:
if maxnumber < x :
maxnumber = x
return maxnumber

list = [1048,1255,2125,1050,2506,1236,2010,1055]
list2 = [1,2,5,6,9,3,2]

print("MAX number in array list is",max(list))
print("MAX number in array list2 is",max(list2))
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Classes
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Defining a Class

o cC © ¢ o ¢
Python ¢o class 0 0$03:602000020€C

class ClassName:

ClassN D006 cl 50l
aSSName O’JGCD’OJ ‘JS(DOOOOGP class .?)Q@O 1l 80@')

class animal:

N [o] (o . [o IEEN [of C (e (=] (=] [of N (of (o
saé]s?qcecng animal 300D class mtojeaoombzo']@ll [9861C class eelos) oloCwud
C (o .

. o c [ c c c c coc
variable 0? OC)(I)?U.)O 00Ol animal @(DO’OJ 3’50’80’36@')9 G@G(I)’)O’J (/‘ GﬁPCS@@%C(X)

o c. €0 ~ 0 c c.[rcoc t] c ,] c
C\? J eqpcom&aoﬂog OO&]_(D’)-?C\)EO @(D%CO ool 3 G@)g

0

class animal:
number_of_legs = 0

Instances

=3 C c o ¢ C o Cc © ~ O C o °

Class [_93 20MD20MEDECE0R class 0003 M) V03200050000 ﬂo’]oooou class o) 3200s

c C . C o C C C C cre . o
Ej[qjcqceoo? instance 0003M m@eaoomqo']mwu m@eaoom[gzoaos instance o

. N ocC C N . o ° o ¢

variable coed ooe:qo’]oooou class como variable eoym eefrul? Saa?:[glcx?qceoog
. [% hY . A % o ocC C
instance 600020} varilable a3 6§ 0350¢ 630y 3209:(g|§CTlodWON
class animal:

number_of_legs = 0

dog = animal()

o ¢

. . . [ [of =] . ~ . o]
323 206 C dog variable oo animal object 0003 @onog):cﬂ@u animal com variable 25}

o (o] C
GSTQI)L 830?0[9[0? G]_CGCD‘O)
dog.number_of_legs
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[ ¢ O . bl o 2, C [
323 Q|$60200)60 variable o) %Q?OB[@gqemcn

class animal:

number_of_legs = 0
dog = animal()
dog.number_of_legs = 4

print ("Dog has {} legs".format(dog.number_of_legs))

you can also write like that

print("Dog has " + str(dog.number_of_legs) + " legs")

c c o c ¢ c c €. c c
08}?60)’)0%808 G§)(Y.)(I)O 80@') UJ(D? (0018112} @QG]_GS’BDCII

class animal:

number_of_legs = 0
dog = animal()
dog.number_of_legs = 4

print ("Dog has {} legs".format(dog.number_of_legs))

chicken = animal()
chicken.number_of_legs = 2

print ("Chicken has {} legs".format(chicken.number_of_legs))

c c o N . . o c c(e c c c
0’.)|<§GUJ’)UJGUJ dog <§ chicken Ob_]eCt J oM oogeeo’mo[gzeoao G[%GOU)O’.) JDWOSO
[ o ° L L ° 1

quég

[0}

c o o . c c
OJODQiOJDCY.B print CI?O)[QGOSG)’J%O’]OO(DII

—

Function in Class
Function eogor(é class 00&d e@@ac\% qo’]ooof)u

class animal:
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number_of_legs = 0
def sleep(slef)
print("zzz")

dog = animal()
dog.sleep()

N . [o] C © ~ O(e C [o] (o
class eels function 0D 0§00 sae']cjao (self) 39[93 esovieeat{enrien eogoslo']eoan er)

Wo
|—80

(o ~ O . [o] (o "r [o) "] ocC (o
eelevieeat-lons class 00D §0) variable 0D V363100 §UICOLLWII

Constructor

c ) c c co o) c oc ¢ c co
class o003 0)&.]8 G&)’J(TDOD&)I SBé]GD O’Jv.?(.OSGOC)(D G)&'ZC\)(D%ICCDOOII 3:]680’30) 00&$W:2
L o 1 L o L L L

o,

00053808@00 502 00OVQE def _init (self)
ILT L |. @ ° L61 — Y

~3o

%ﬁz@lcgéoqoooou ogﬁeooocr%m
L L

(o] C
constructor og calolonudi

class animal:
number_of_legs = 0

def __init__ (self):
self.number_of_legs = 4

def sleep(slef)
print('zzz")

dog = animal()
print ("Dog has {} legs".format(dog.number_of_legs))

] o C O (e oc C
3 code ¢ 30§C602) Dog has 4 legs 39[93 qo’]co@eoou

c c o ¢ c o) oc
3’3(7300@ (T()JJ?GU)’)O)OO 83[%3 value (T) assign oo QJCOJOOSZL)G]_C GSZ)(D(T)C\? GG]_M%CO'-]

O’.)OOII

class animal:

number_of_legs = 0
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def __init_ (self,legs = 4):

self.number_of_legs = legs

def sleep(slef)

print("zzz")

dog = animal()
print ("Dog has {} legs".format(dog.number_of_legs))
spider = animal(8)

print ("Spider has {} legs".format(spider.number_of_legs))
def __init__(self,legs = 4):

[o} o Ny O (e C C
30000Me0) legs m default value 32685 4 e?bz 603am:0looWOI :ﬂe@)g
dog = animal()

C [

e3l00p) 223lan60m default value 4 $¢ oCagzomali

spider = animal(8)

o C O (e C C
00005 339']?3600? legs oo 8 s?bz 0Cag:0lonudl

Inheritance

® s c c c o C C c _ofe =)
[98?&0) 3’33%80’360’)’2 08}%60’3’)0’%60’3 class S’BG@')CS 3?§88COD 03[980’][9" 3’3?
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. [o} C o [ C C C N .
Inheritance spoxMe0) saegsome[%c:z oo§8:3233[§c0: oce class g, child class

cC © C "]\ 9 N C . (o] (o} cC O C © (e .
coc?ooz@mo ol [9:;0909 329§3M animal class 0 0R|$60200) m‘?mz[(_,]:eoo? dog object
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C (o [of cC O C © (o [o] . (o)
lep) eeoooo§@oooou 323 MR|$60000) dog class w§m:d]em|| dog 300DM animal L)

o} class §, child 6lou

class animal:

number_of_legs = 0

def sleep(slef)

print("zzz")

def count_legs(self)

print("I have {} legs".format(self.number_of_legs))

class dog(animal):
def __init_ (self):

self.number_of_legs = 4

def bark(self):

print("Woof")

mydog = dog()
mydog.bark();

mydog.sleep();

2} o C N o ocC C
3 code g1 30§ ce0%) Woff § 22z 03 sopscoloowdl

c 0 N . o) e ° oc o} oc
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What is a Stack ?
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e Data Structure

e python

e javascript
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cC O Y o]

. N c c o c c
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Implementing A Stack

c c o N c o o ofe ) c
C{B? (TgJéfGU)'DCf.L)OGUg stack OO(JJ) O’.DGOg (.)']QLD&?CD’)(Y.B 33[98()'][&’" mooeorgoStack class

C o c c c c
O’)Q)?O? (7)86&)’)0’3@@6163?’)0"

class Stack:
def __init__ (self):
self.items = []
def is_empty(self):
return self.items == []
def push(self, item):
self.items.append(item)
def pop(self):
return self.items.pop()
def peek(self):
return self.items[len(self.items) - 1]
def size(self):
return len(self.items)

[}

\ 0 N N k. [o] . [ 2]
323 code COD olod __init__(self) 300060 constructor ¢l Object ealot=Tea) oqu

ooéeso')ogooo $°§3033 constructor 0’% eal0lonudn stack €260 Object © esooo%ooo%

. N . . [o] ¢c O C C
object §), items variable oD empty oo&go?mo']cnoau

. [o} O . . . o C
len(self.items) spoxme0) len 2007 function v item §, array size e«o[goo')o']u

c

. N c c 0 0
item (I)SD OPO?GOI]CS array 3’38?8 0000 J ?0?
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c c o k o ¢ c c
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class Stack:
def __init__ (self):
self.items = []
def is_empty(self):
return self.items == []
def push(self, item):
self.items.append(item)
def pop(self):
return self.items.pop()
def peek(self):
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return self.items[len(self.items) - 1]
def size(self):
return len(self.items)

s = Stack()

print(s.is_empty())
s.push(4)
s.push('dog")
print(s.peek())
s.push(True)
print(s.size())
s.push(8.4)
print(s.pop())
print(s.pop())
print(s.size())

s = Stack()

S ('Y% Stack class saeﬁoe@@)ooo:cﬂmcﬁu

print(s.is empty())

o C o [o] C (o C [oN§>]
ocwad: stack o empty @oe§m’)gecl>oooo? o?oo@ooo:oooou 3’]6@99 True 3?[33 @o’]

oc C
Q0LeWII

s.push(4)
s.push('dog"')

c (o c c o cmc c o.c¢ ,] C
G@@[SSGUJ? ()alc?GO’.)')O%G(Tb) 4 dog Q)OD@@C 00) (.\?O’JO (0n]00]]

o o,

print(s.peek())

k C o c N c.9 c '~|
peek 00603 e@ma?o CD@GJ)OO? 338§Q(T.L) G((D@CD’)O I

print(s.size())

N

. o c o . c cofe o o} c
s.size() SCL)O’J)(DGCD’O) (T&WO%GOQ Size ODODGC\'D(DﬂBC\) &?CD’)(T? O?O)@ O‘J)O']II

print(s.pop())
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Simple Balanced Parentheses
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parChecker.py

from stack import Stack

def parChecker(symbolString):
s = Stack()
balanced = True
index = 0
while index < len(symbolString) and balanced:
symbol = symbolString[index]
if symbol == "(":
s.push(symbol)
else:
if s.is_empty():
balanced = False
else:
s.pop()

index = index + 1

if balanced and s.is_empty():
return True

else:

return False

print(parChecker('((()))"'))

) d o) c c o c c
3 code 0? CYCJ)Jv.?GOC)’.)CI@ GC\?Qﬁ@@GlGSBDCII

oal%emgdcé stack.py o3 parChecker.py § file egep 32

eCallll parChecker.py oo /Users/python/ & 310005
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from stack import Stack
[of [of (o
m sao?oa?oo']eoou
Python & external file import format oo

from filename import ClassName

C

sle[op¢ class name o Stack [4o[G: file name o stack.py [goo0p) 2030603

o

from stack import Stack

o[e
&)[98 GG]_SOO’)S(TJ’)O’]II
L

N [
OUD(\?

o

s ~ o o c O C cC O .
parChecker function 00D BOOYEEE) §I0EQDMNY (R|$60ID0E0R while loop
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symbol = symbolString[index]
if symbol == "(":
s.push(symbol)
else:
if s.is_empty():
balanced = False
else:
s.pop()

index = index + 1

C n/n C (o c o ° ° C c
3’]6@99 s.push("(") ocogozo’]oooau 02(NVOCYIID VOOLEDS PICVM (ELIOOIC

C (e Ay C
balanced oo False @o[ggeoo? loop come$ ogmog)gejnof]u
[o} [o} C C C C C N C (o C 2]
30000 0200 (0D CVVIOWDI push COLCYLOOLOII Array COED 33§ | 9§: @o)ogoz[gu
o ° o C C C N C (o C C
020200 EICYE ) 0D LIODWDII POP CPVODWIII Array COED 329§ D 9§ NY|$620300WDI

° c c c c c
0)')(.\)8661 (TJ?OO’)SOD@ 3200M Ioop oo]eslevaiieslou]l
L LT o ° <] <] <]

if balanced and s.is_empty():
return True

else:
return False

if balanced and s.is_empty(): 2 GGISOU):QDé condition G@')é: return False [9%01
O’)(l%ll
C [o]

c c o o ¢ c c c oc c o o
08]?60’.7)0960)03) 0O ®®OD@ 3’38']6') 3200C SC 32000 33[_96 33661 320000 ODW COO0D
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0 20§¢€ esHmD: stack mpty [@@o0:0lewd [Qe balanced 53
R PO§C 6§2M3Ds stack m empty @@&3’300 2186 eq?‘)m[goeooro) alanced oocopos
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o

Q.

from stack import Stack

def parChecker(symbolString):
s = Stack()
balanced = True
index = 0
while index < len(symbolString) and balanced:
symbol = symbolString[index]
if symbol in "([{":
s.push(symbol)
else:
if s.is_empty():
balanced = False
else:
top = s.pop()
if not matches(top,symbol):
balanced = False
index = index + 1
if balanced and s.is_empty():
return True
else:
return False

def matches(open,close):

Opens = II( [{II
closers = ")]}"
return opens.index(open) == closers.index(close)
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print(parChecker('{{([I[1)}()}"))
print(parChecker('[{()]"))
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top = s.pop()

if not matches(top,symbol):
balanced = False

c cC\ € o cMm¢ co [ . o C
3?%)(03 @0)?610 S'BOUJ@(DOD(X)'X Q)(D(Ig matches &L)(YOJ function 0? GS]_SOO’)%(S]O’.)(X)II

def matches(open,close):

Opens = II( [_{II
closers = ")]}"
return opens.index(open) == closers.index(close)

N
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o

OpenS - n([{u
closers = ")1}"

print
print
print
print

opens.index(" ("))
opens.index("["))
closers.index("]"))
closers.index("}"))

P
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Decimal To Binary
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C C C C cC C . o ~ 00 O C
@@q@mcu Computer 20623 00060NM @@qceoo? binary 00 92000 33¢ Y30
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looudi Computer v binary value $,0 %ngc?oo']oooou valuem 0sc 10 ﬂo']oooou
. C [} C [ . o
Decimal value meo» 0-9 ocuocisgeogﬂo']oooau QU 668 s0) decimal value o
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o
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668/2 = 334 , Mod : 0
334/2 = 167, Mod: 0
167/2 = 83, Mod: 1
83/2 = 41, Mod: 1
41/2 = 20, Mod: 1
20/2 = 10, Mod: 0
10/2 = 5, Mod: 0
5/2 = 2, Mod: 1
2/2 = 1, Mod: 0
1/2 = 0, Mod: 1
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§’DOOSCL)8€J) (18(00']6()3" Decimal to Binary G@)Cg(g) 330800 stack (T? 330?8@[%0010003"
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from stack import Stack

def divideBy2(decNumber):
remstack = Stack()

while decNumber > 0:
rem = decNumber % 2
remstack.push(rem)
decNumber = decNumber // 2
binString = ""
while not remstack.is_empty():
binString = binString + str(remstack.pop())
return binString
print(divideBy2(668))
code sO:MeOM 6°0']O’.)(XSII O’)"C\)EBO’J 20 6@038@6" loo ()(TSB(XSII (= ()8[§°GO’)')
o B ﬂ o o L 8 o p @ o 3
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Base 8 0’?3 e@pf:zooé divdeBy8 function or% eqzo’]u 668 (base 10) &l base 8 oo%f:osoo
é oo%fézooé 1234 @ogooéll divideBy8(668) en sae@ooé 1234 ogogmoqeéu

class Stack:
def __init__(self):
self.items =]
def is_empty(self):
return self.items == []
def push(self, item):
self.items.append(item)
def pop(self):
return self.items.pop()
def peek(self):
return self.items[len(self.items) - 1]
def size(self):
return len(self.items)

c
668§§8 JII

Base 16 (7?3 e@)&zooé divdeBy16 function or% eqzo']u 668 (base 10) el base 16 oo%foz

-

ooé oo%@zooé 29C @&wéu divdeBy16(668) e sae@oaé 29C og(ﬁmqeéu
base 16 ooé

Base 16 Base 10

A 10
B 11
C 12
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Implementing A Queue

c c o c o ¢ e c c c c
O’&WGCTJ'J(Y% Stack O’J(D? (Te (0§U)3(ITJS(OSOD 3’3(780’36@')(03 Queue O’J(D? (0§O’38(0 03M

Scoolona
1 IL

[of [0 C O (e [of
pyqueue.py 0D03 M (oq?oos[gg 6300l code

class Queue:
def __init__ (self):
self.items = []

def isEmpty(self):
return self.items == []

def enqueue(self, item):
self.items.insert(0,item)

def dequeue(self):
return self.items.pop()

def size(self):
return len(self.items)

g=Queue()
q.enqueue(6)
q.enqueue('cat")
g.enqueue(True)
print(q.size())
print(q.dequeue())
print(q.dequeue())

print(q.size())

cat

https://blog.saturngod.net 97


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1
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c

2
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o
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Priority Queue

o
Queue QD G§)OOCDO CDO)(:]“ 6]03)0060)‘) Pr|0r|ty Queue Or]" 33610(\)3 3361 8?60@
(D 336613[_930’.7)(73 83@3603[93 G@%QCU)GUGOO 33610 CDOO(.O C\'.)O OJOOII (e0] CCDO(TSQ)
° L 1 ° 0o o L 5 L

c N L c (e c co o0 c
@ data 610 Pr|or|ty GOT&J:D %{0)&?[9860)? [gcf()?(f)(lg C\?()f]O’.)(X)II

pyqueue. py § 320000 pqueue.py 00 ®§O’J 20lon LI

IL L

from pyqueue import Queue

class PQueue:
def __init_ (self):
self.items = {}

def isEmpty(self):
return len(self.items) ==

def enqueue(self, item,priority=0):
if priority not in self.items:
self.items[priority] = Queue()

queue = self.items[priority]
queue.enqueue(item)

def dequeue(self):
keys = list(self.items.keys())

if len(keys) > 0 :
cursor = keys[-1]

myqueue = self.items[cursor]
val = myqueue.dequeue()

if myqueue.size() ==
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del self.items[cursor]
return val
return ""

def size(self):
size = 0
for key in self.items.keys():
size = size + self.items[keyl.size()
return size

. . [o] . . O C o(e (g [of o
Priority Queue u queue 6oy Priority 320000 o)[gzeoog Eﬁ‘ o?ooeosoaoo']u Code

c. c C o, € c c
GﬂCoBSCJQJ 3'3610&30 oeo@@ G]_GS'B')CII

from pqueue import PQueue

p = PQueue()
p.enqueue("HELLO",1)
p.enqueue("H",2)
p.enqueue("E",5)
p.enqueue("L",3)
p.enqueue("0",3)
p.enqueue("Sample",9)
# 7

print(p.size())

#Sample
print(p.dequeue())

#E
print(p.dequeue())

#4
print(p.size())

#L
print(p.dequeue())

#0
print(p.dequeue())

#H
print(p.dequeue())
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#1
print(p.size())
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if priority not in self.items:
self.items[priority] = Queue()
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L selt.1items ] Y P Yﬂ ﬂ £ ] T Lq
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queue = self.items[priority]
queue.enqueue(item)
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if len(keys) > 0 :
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myqueue = self.items[cursor]
val = myqueue.dequeue()

N N

) . o c c (e c (e o c
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if myqueue.size() ==
del self.items[cursor]

N dat o c €, 9 c o ¢ '] c
queue (I)EJ:D ata 9?]60’.79610 3’38%:0? (_(“(Y.)QJC\?(Y)O (ep]00]]

size = 0
for key in self.items.keys():
size = size + self.items[keyl.size()
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323 Program 60030 ©p:@2:§C 320003000 ooo:eooooo[(_.]z 0D06LINM e@vczag’.)zoowu

G§D(YSSE’L):: Hla Hla 23 eq)()%og)gqf: Aung Aung m6e$ @%oooof)u

c. c o o c cre, c,e 0¢,
CD<§@°G[§’)610 O(I)@&?o m C\I)L(T.B Gn?’)OO(D&? @?[30 02§20 9C:0D

L
c c c 0 Jfe.fe .0 ¢ c o Mmc¢ J[e. (‘oeoof]\
G§')(D(I)®GOD’)(YJ(Y? 600[90[9 &L)G]_C 6§')(Y)0? @?:l‘o)’.)o[go O’)?JD (30)() ol

Aung Aung, Mg Mg, Thiha , Thin Thin , Ko Ko, Hla Hla a%o'la%u Aung Ang mes Mg
Mg 093 cealevh eo:@gqé Queue m Mg Mg, Thiha, Thin Thin , Ko Ko, Hla Hla, Aung
Aung @o%ogage(f)u @zq{: Thiha , Thin Thin , Ko Ko , Hla Hla, Aung Aung, Mg Mg @f»e

c
OolI

o c@ o ¢ c c o o) )
3'](? ODGUD’JGO,](DEJS?G]_C (T&I(?GOJ'DO.B’ code GG]_DL\BG]_O'][SII

from pyqueue import Queue

def hotPotato(namelist, num):
simqueue = Queue()
for name in namelist:
simqueue.enqueue(name)

while simqueue.size() > 1:
for i in range(num):
simqueue.enqueue(simqueue.dequeue())
simqueue.dequeue()
return simqueue.dequeue()

print(hotPotato(["Aung Aung", "Mg Mg" , "Thiha" , "Thin Thin" , "Ko Ko" , "Hla
Hla"1,8))

c c c
Code so:m ﬂCZO']OJLDII GCIgGGg (00}{0 0k GﬂCS[QGUJOJOr]IYIDLSII

L I

simqueue.enqueue(simqueue.dequeue())
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\ 0 c (e N coc c
323 code co:m dequeue C\?o[gzmo§oqjmgcs enqueue [§§C\?

o C
L

c c c c c (e
DCEOND Queue S’BG@DCQ 33§88C(DODGO’J’)GO’](DGC\TJ(D[9 00)
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3 00600l 329

ecgoqjée%: QL

c
eeo§.§o all

class Queue:

def

def

def

def

def

__init__ (self):

self.items = []

isEmpty(self):

return self.items == []

enqueue(self, item):

self.items.insert(0,item)

dequeue(self):

return self.items.pop()

size(self):

return len(self.items)

g=Queue()

g.enqueue(12)

g.enqueue('dog"')

g.enqueue(True)

print(q.

dequeue())
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%9%: 6 n List §¢ Dictionary

2} C o C . C . . [o} C C . Ny . .
33295360 33@003303@9 List ¢ Dictionary o) em@eozog)zo']ewu List ¢ Dictionary

C C o C (o e] o C C . o o
U CONW) Program 60y 60000 323ed eﬂe@o) a3 93200lon0dn List o3 Array o9

C 00C C coc . o C ~ o o o
Qo pde BSCOloowdI 6§D Cs sorting 603 30C:en Array §, 3262010603 03 6096015
LL L (¢] L 1 ° L o 1L Oc
C C © Cc C . o ° (] N o C ©
66001 [§:30) 3285260900000z List 0) 32032(g|(G:e0m? Stack $, Queue 03 0§03:90M
[¢] co c o [% C [¢] C . C o] C A
0% 902800 C0CUloLdI 360607 List 326[MpE:) so0gp ©§Cs[gadlon:i 3

12108 8) List § Dictionary SDG@DC OO GOD%POI) G]C @GO ()']Q(DII

S,
$n
5

Lists

. o) C ([ c o) c . o}
List &?O‘)’)(TJGU)? 333§3[—98(I)QJJ) 3’381?8 S'BGCDSGC\DgGCfg ﬂ&)@ CDGO’J’)O’]II List (T.L)

. o [of C . o] C
programming langauge 6062607 Array 000008 eaT@o’]oooan List meom M|

o C

N C o .
eoooooeoo Stack saoczeooe:) Q0330 :0loowdi 00MWY Array/List 02060

o [of O coc¢C . o
programming language &> ©§0: é]ejseugoo MPLOVC programming language o

o [of C N (o] [of O coc¢C cC O (e cC o
(oﬁsoozoa&?’saa']?o Array CD()DC\? 3200000000 WVEINDC MWOYC wq?m:bsecn? 6630200

o c
C\?O’]CDOC.)II

Unordered List Abstract Data Type

C\ O ocC (o4
Unorder List aoooomeooo list ooeo 330)330)8 ealoal[S¥alesltRe sacrgczoo&aooozmo']n
Qued I [4,3,6,1,90,404] 0300@ @geo'lll
cC O

c o coc c o
(78]?603’30% ('T?Q)(L) C List O’JO)S ®§O’J

c
330%)(73

'EGO

. O o C 6 0 O C R [of C C C
e List() 300D class 0§ODOCVOWOII init C\)OQ)@GBSI]QJJD empty data @®e§61@oou

dd(t ) it o} list o3 c c o c r~|
o d Iitem) 05602 Item 0? IS CD(J:D OO&,?GODII eﬂoa?°e§q3?3 CD@?’JO Il

https://blog.saturngod.net 107


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1
. . 0o ,. N cC O (o
e remove(item) 0oe02) item 28] list COME§ VOO saogmo'lu
e search(item) oneom item U list AW eo][§[§cv) eeo]eoa:oogc\)'): 0000l
° 1 1 1 IL [
. . N . (o] ofre CcC O (o
e is_empty() me02) List eel"s item 60 0§ 6020025003 ecl)[gz ®®cgsaorgmo']u true/
false boolean value or% return @%o’]e(f)u
. . [o] (o} C [e) C
e Size() meox item 32632000 return @c?eogo']eoau Integer value o return Eﬁeoz
o O L L
.
olewdl
append(item) ocneo e P32 32982650 002000
[ ] pp I s ¥) Lo ?ol @ Lo() "
. . . ~ - [o) (2] (o}
e index(item) oeo) item §), position o q;[gueoo? return @%f)o’]u
o (o co C

e insert(pos,item) meo2) item 0D MW oogqj oa@ S$EPEO COW 3309000’]u

I—O

o POP() MEON) 6§0DD2 I?3§:AOME$ B0 3200501 POp 30RO TN return

O

co )
@§ (Ig BC\?O’]O’IDLSII
c o ¢ o) c ¢ (6 ¢ ~© o} c
° pop(pos) MeOo 338?8 §OCD(D (JJ’J(T? ((“(TJGQ)II E.]%]_C 323 data (T? return E"-?GOS

c
[S]00]]

Implementing an Unordered List: Linked Lists

. O o (o C - . o C
Unordered List 3 0o §3aoz@g linked list o eeT@o’]oooou Value 60y U 6$6p

330’3@33({“9(}305(.\) G§6I)®G®GD 6]&%0{]0)()5" item OJOS?(D G‘?’)(TSCD{) iteam U)OS?

3o

OOO[(__]S E)Oc?S(D'JSO']UJODII 80&9’) GS’B’J(TJO’.) (0)0’(.)) @ C(.Y%(TSO’]II
O L L L

o,

n

3
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o ¢ e c oc C - c oc c o ¢
%OOJGOQUJ’) 330)33@8330?08 002000 QJOJQD(DOCDSOJ’)(T? GO&%COOUDII '3’]&?610 class
e oo

c 0O \f6e _0C O O c c _c
0)? 0? 08[92 OOQ%LIg C\?O’JQ)II G‘?’)OOCDO value

N

) c c c o c c co o )
323 3’30’800 (78]6?60)’30%608 Node class CDO)? OJEG&D’)(D(L% (\?C\D[SII

class Node:
def __init_ (self,init_data)
self.data = init_data
self.next = None

def get_data(self):
return self.data

def get_next(self):
return self.next

def set_data(self,new_data)
self.data = new_data

def set_next(self, new_next)
self.next = new_next

(% (% N cCo o
Class 600600 §C2qCi600:0l0N COME

c o c c
G.?OO@ data 0D store CO0O00D300LON next
11 o L L

o] [

.
data 0D ©ODCODEWII

o

o C [of [of [of C [of
code sco:m 3’3610803 32000000 Q0D8 ®eg@@qemcn
L L L L o
from node import Node

temp = Node(93)
print(temp.get_data())
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C 2} N © . [o} [ C N
323 Node 0003 61[(_.]|| 323602 Unordered List Class o eeoooo@ewu Node coen

[o]

oC C N C Cc C [o N of (of [o] C
value 2000001 Node §), next value o 6$200000 node 02030 §|0100DZLWIII sr]a?elc

c c o . . c c e oc(e
('YaﬁGCD’DCDGCD Linked List oo09 (D§0’38 cl|qn
Lo o L L

Unordered List Class

. o N cC © (e C ¢c e 0 o c¢ [ o N o N
Unordered List o3 Node iwwoz@zewg ooo:ee@czo:o? §|0230M0PQOIl PECO2S,
C C C C O o \
o)egmg@@qc 63DMMCY Y60
. head
list
End

C o C C

List 200 empty @5)&?61{: head m end s¢ 050026108660

. head
list

31 3
End

c__..0 head co ° d o c o G de & |
@()?O’)O’J:,&LDSICGUJ? ead o (.\')(X)ﬂ GﬂoaL)o node (IE eg§oooaeoou Gﬂo noae 610 value 0o

I o} c c [ c (e c C 8o O
1 @@bzeoog next O?GOOOD G?’)m 000 hode O’JO)? OG)OE.’SGOJOD eg‘%CXDSO’JwII 3(30?

oo’)
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C c o cC O [¢] C s (o o] o] C
6077 MR|§60D0R60R ooo[ggo)cg node class 0D 63000V PITPONDM 206060l

emo(ﬁo'][f;u 329 unorder list (oto%°@ 5§63nCl
7 $02: (3229

from node import Node

class UnorderedList:
def __init_ (self):
self.head = None

mylist = UnorderedList()

o) C o © c c e oc N o) c
3'](7360’.7) 3’36]8336]08&32 880’3 class ooo9 (9?0)20')000.7)60']" head cogd None (TJOO@
° L 1 L L L ° 1 L o

o
c c o c o . o c oc¢ N . [ o ¢ o
(00n1105]00]| R0SH] (DC\B(.\')@‘S&L)GUJ? Ob_]eCt (Y% esoomC\?moooiempty list O’.)Q)Z-L)(Y? @c?d)g

BESJn
Empty

c ) . 0 c c co c . c ) c
08]§60)’)0%603 List 0? empty @@@@@ 0)@(12 3'30’6)(73 function UJO? (.0§033 61833’)C||

function mméz C\gcf)o']ooof)u head 00000 None @OSG§61(C: List oo empty @03&150005

8o

N o] C A
03 36WOI0N

def is_empty(self):
return self.head == None

code meom

from node import Node
class UnorderedList:
def __init_ (self):

self.head = None

def is_empty(self):
return self.head == None

mylist = UnorderedList()
print(mylist.is_empty())
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O°O°GC\7°O']C)II 329 6 (YSCDOSSO& Q003 GGZ)EZII
ReqEecos ? 59 7 9739

Add
C . o cC o C
323 3280¢EN60D) add function o) (oq;oo:@eoou

mylist. = UnorderedList()
mylist.add(3)
mylist.add(31)
mylist.add(71)
mylist.add(10)
mylist.add(5)
mylist.add(1)

egl)qé list 00 633000M 9(\% eonIgC\c’?o']oocﬁu
. head
list
1 5 10 71
31 3

End

o ¢ oc. c 0 c c o G
C\?O’JO?C;, 3'36§')(TJ(T? GGT)(DGGT)O’JOQ’JOB(DII

o o C ~ O C C c C C C C
Sleeloioek: 33@9593 3 0 qoowon 31 ooo@p_‘geoo? 31,3 @o)ogozoomu 71 ooo@@eoog

[of C o [of C cC O . [of o [of
71,3,1,3 @oogozoooon 323 320000 (Q|$6070060) function 0003 6§32 OP:®:

Glesaoéu
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co ¢ N W~ C C o, S (‘00flc
O’.)OC)C\? GG]_OG]_C G]_GC\')II 6661030 3’361C &?o 0)800730@8(3 C\?O (0a]00]]

. C cC O C (o
variable 0203 COPIAVMEWII

c c o . c c c \® 0 o ¢ c
Oalc?GUJ'JU% Node obJect O’.)Q)Z-L) G’JO’)(Y)SIG(X)II 323 OO(T? GOSC\?(Y)OO 0

c
(S]0u]]

Cc

o ch d o} C (’N de & t OO o ¢ c
G?OD@ e€a 0?00@8(1’) 0] eﬁlo nex (I)%DOO@(.\?(DQODII

co
(.\')(X)ﬂ §

. N o C C N o ¢ ©
list §, head 03 temp g>00POLWIII saé]s?qc q[gu

C C =] [o]

. C
variable eetey

c c c © c cmce ) c
code 8861880(19’3 00030 C|IqC0 © 80)’33@2 861803@ 3'38’]%0 3’3?’38@?@06100) Obg Qg(l)

o

L
o

J0QY 32092300 CS t?égw)gé&f)é 330’6)(75 programming OeOCOOMOO %Gdg 336?%

L 1 L

c oc c o o0 C
3’3&)(030?03 Q)eﬁmgilgbg(lg C\?O’]OD(DII

N c c o dd f . . c c
m 33? (QJ%GU)’)O%GUQ a unction GGP@@G]_GB’B’)CII

def add(self,item):
temp = Node(item)
temp.set_next(self.head)
self.head = temp

(o o
code sa@p_‘gsao?m
from node import Node
class UnorderedList:
def __init_ (self):

self.head = None

def is_empty(self):
return self.head == None

def add(self,item):
temp = Node(item)
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temp.set_next(self.head)
self.head = temp

mylist = UnorderedList()
mylist.add(3)
mylist.add(31)
mylist.add(71)
mylist.add(10)
mylist.add(5)
mylist.add(1)

o) c o ¢ o c c
code 0? GﬂC 0 SCL)GlC GS’B’J(D('D S'BSOCGC\) GOgOCL) @ O @@O’]II

C o . o (o
Oll 32§ CD3 list head @ None §oowoll

o cC O ¢ [ N -] . o cC O ¢ C . O
Ju 3 M0 COPOCVME0N) , temp = Node(3) 39[9: temp object 0D 630OMAVMOOWIII 323

oC N\ C (e [% %
33[$e0 temp ¢, data o 3 (§0[G:e02) next 160 None [gdes00dN

o o C [of \ ~ cCo o %
o] temp.set_next(self.head) QQ PO PI3T0PM temp §), nNext oL COMS) head ga)ele
(=) [of C (o C C 0
ogog[gu head oo None @o)oo 03200 next meopos None @oje%;)ou

c

i self.head or% temp o C\°? 20 r:s*aorg()&;@x:: self.head oo Node(3) @ogogo:@u

o, o,

[} C C cC © OC o C C
g 31 o ooo@@eoo?m@o 3320)C:01 D6VW) temp.set_next(self.head) e@ag

Node(31) §, next m (423 Node(3) [gdognzonudi

Gu self.head oo Node(31) @ogogo:oooe@oé self.head c0w> Node(31)->Node(3) a§[§

@&Qg)zo']@u

Size
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~ e O (2] . o [o o] C
329 self.head 0> Node coD saqu@gqe§[9u Size O 200MmMeo Node 326§ 3209M
L 1 o 1 L [ o (o]
C (ol e) S (o) OO0 O C C N C o C (2]
9DUOECDM §CS PO WYV WIII Node 60 D03 omm?qjoaoo)z@zemg

[ c c 0 -
e@me?z next oo None @OOQ’)SOO@ 32000l
. C c c
Pseudo code GC\)S%O)BSO?)%@@G]_GGHDCII

Set current is head
Set count is zero
Loop Until current is None
Increase count
current = current.get next()
Return count

p d d o ¢ N head o c . c (e, ¢ o)
Seudo coae 3'361 SCL)G]_C current CD?’) €a 0? CDP_’QQLDII E.]oGIC count ('T.P O?&)J(TJG§ (DQJ-)

3o

c ¢ [o} c c c ¢ N c oc o
O2LWOII current (Te None 6@@6@02 Ioop 000Vl Ioop CDGGPOOO%CS count (T? O 022
c

c (e ¢ o co N o c . ¢
Q0D:0000II BSG]_C current o C\DO’J&] current 61 next oo QDID_‘D@LDII Ioop m (I)O’.)OCD%G]_
o L 1 ° L o [¢] o

0O~ ~

o c c c ¢ N o N c
count (T.L) return [§§GOOQOOII code ecozm ﬂCoﬂConoor]" 3331(71) python ?ﬁG@DCquo

Eﬁeéqeszaéu

def size(self):
current = self.head
count = 0
while current != None:
count = count + 1
current = current.get_next()
return count

(o o
code 33@@330300
from node import Node
class UnorderedList:

def __init_ (self):
self.head = None

https://blog.saturngod.net 115


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

def is_empty(self):
return self.head == None

def add(self,item):
temp = Node(item)
temp.set_next(self.head)
self.head = temp

def size(self):
current = self.head
count = 0
while current != None:
count = count + 1
current = current.get_next()
return count

mylist = UnorderedList()
print(mylist.size())

mylist.add(3)
mylist.add(31)
mylist.add(71)
mylist.add(10)
mylist.add(5)
mylist.add(1)

print(mylist.size())

c 0 c c c c o o) c c c o
(05]0a]00]0] C\)OOCD(DGC\)%()‘—]II 309 08]§GUJ’)O’JGCD 6]&3(3] node co) (D§G3B'JC |00p 0leslav)
L © L 01 o 1 I°

5 o

2] ,] o ¢ c 0 (e ,]
6108’)8[9" 3 &L)G]_C search (.\?O(XL% 61[960°II

Search
(o cC O C 6 N . ocC cC O (o) C N (o} ~ (o}
Search QOOLWDEC que;;og Size 320)C3 loop 00D CVODWIIl 60REC loop com 0QME

def search(self,item):
current = self.head
found = False
while current != None and not found:
if current.get_data() == item:

https://blog.saturngod.net 116


https://blog.saturngod.net

Programming Basic (Saturngod)

ret

found = True
else:

current = current.get_next()

urn found

co o c c o c ¢
C\)(')Oq ﬂOD@ code QJ)’.) GB'JCSC\B(DﬁlC

1

from no

class U

def

def

def

def

def

mylist

mylist.
mylist.
mylist.
mylist.
mylist.
mylist.

de import Node

norderedList:
__init__ (self):
self.head = None

is_empty(self):
return self.head == None

add(self,item):

temp = Node(item)
temp.set_next(self.head)
self.head = temp

size(self):

current = self.head

count = 0

while current != None:
count = count + 1

current = current.get_next()

return count

search(self,item):
current = self.head
found = False
while current !'= None and
if current.get_data()
found = True
else:
current = current.
return found

= UnorderedList()

add(3)
add(31)
add(71)
add(10)
add(5)
add(1)
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print(mylist.search(10))
print(mylist.search(12))

Sj o . c c o ¢ h d €. 0 °'] c t N c
1ze 00 @003&'20000@610 searcn code OOC\')t’)_IDo GL] ﬂ sOI0DVOIl current 0o None GGP(D

»n O

c
OO@SBG) Ioop OU)CDOOII Ioop aom CDLDS’BQJ%CI‘; GC\)&?GO)? current oo None @(D

o2g]$ 3lewwrod found oo true [googazgsedl

while current !'= None and not found:

] o ° ocC C N C [ C

3 code ¢d> and M 33:1?:@[00:)30'3) eogéco']oooou and §, 206900M 0003 False @ch
C N ° C C C o O ocC C

3m¢ false on j 3 cos true @o)ejs true E(jox)a&g 206000M oa@o’]meeoan code 3¢

o
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current != None galevient True @@qeoou not found D0 320M found galevtosk:
L [ o
C C C O(e [o] o C
false @@qemn found oo false @@ejsooo not false 3?[33 true o qefr_)o']n J @ops true @0

| . c __C r‘l c
Gv.?OD@ ooping o 3’3(\?0(\?06?0 12100]]

[¢] [%

0? ﬂ)&?&)e item O’JOO’) GO’.)GlC found oo true @O(XD B c0x Iooplng OO(YJG.? OOO’J

OD’)?O’]C\)GGLDII

(e} o

Remove

o ¢ C N9 .

oCc o0 ¢ c . c
C{B? remove 3’3({ CY.L) 0)8 S[EG]_GS'B’DCII item O)O)?GO%Q?OOQOOII 323 Item (Y.L)

o
G0
1—80

C N o o . c Node & N c o ¢ . c
(0p]00]] O‘I?oqo S’Beﬂom O%(Te QJO’J(I)')OOD@ ode '?00%610 3’36@0’30’) s QJO’.)OO')QOD&?

O

I
Nod o oc¢ .0 0 c c ... & _c .[e
ode J ?(T? q.ICDGOoLIgC\BCD(DII QI?(TJGO’J’OD §eo§eo ?I]_OOD’JO Il

o
C cC O
ORlpe0o0RgD

head -> 31 -> 10 -> 8 -> 4 -> 3 -> None
o O (o [o] cC O ¢ [of (o [o] (o8 [of
eo[gze]elc 8 ™ remove CQODMEC 63DMMDY (DI
L 1 L L L L o
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head -> 31 -> 10 -> 4 -> 3 -> None

\ 0 c c o [o} () c N o} c c T o
3236020 (')Olc?GO’I)O’J 8m (.(]JOO(.O 3200M 8 GG] 6100 Node 00 9000003001 3260100 032
° [ L [ o Il o L 1 L

03E: 3§ Ce0m 10 60l Node(10) 6, next o3 Node(8) 3200z Node(4) §jod60:0005§ 0N

Node(4) er%oooooeoo? Node(8) §, next ol
8com Pseudo code coos eqs@éqaméu

SET current = head
SET previous = None
SET found = false
Loop Until found OR current is None
IF current.data == item THEN
found = true
ELSE
previous = current
current = current.next
IF found == true THEN
IF previous == None THEN
head = current.next
ELSE
previous.next = current.next

c c o c oc o) c c oc o0 c
(ng‘?GO’J)O%GUng 3’3610 S'BO?CS |OO|3 (Y.B current oo None @0)6:%008 3’3%]% O%QO?CD
not found Qr‘) °ODC oc oI c o O"] c c .\ _cMcoc

@ OOODQ @3’3%]:? QO 100p 00’)(3 C\?O 08]00]]] 3’30’303@ ﬂ’)GO’gp@ﬂC @@&LCG@ J
o) c c coc c o0 c c c c c
? OoLOIl OCOL 338-?8@0)%003) G]_(D O%QU.BOO 0000 3’38-?8 GU.BOOOJDSICII 0000 323630

o

(-
-

[ .

[ .\ 0 [¢] S o C O Co
qCGCD? previous o None @‘DG??’JO‘-]II 323 3’38“1419') head (Yi? next ‘%DQJO)GOSC\?(TJQJO QU.B

C C . N\ o ~ A o C o o C
O’JﬁlCGO’.)? previous 610 next (II? current 610 next iQJCDGOS(Ig C\?O’]O’)ODII

python %eqz@éqeméu

def remove(self,item)
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current = self.head
previous = None
found = False

while current != None and not found:
if current.get_data() == item:
found = True > 1t iiririaaes
else:

previous = current
current = current.get_next()

if found :
if previous == None:
self.head = current.get_next()
else:

previous.set_next(current.get_next())

code emzam°[9° 0A0MEC
33N Ys PXRPY
from node import Node

class UnorderedList:
def __init_ (self):
self.head = None

def is_empty(self):
return self.head == None

def add(self,item):
temp = Node(item)
temp.set_next(self.head)
self.head = temp

def size(self):
current = self.head
count = 0
while current != None:
count = count + 1
current = current.get_next()
return count

def search(self,item):
current = self.head
found = False

while current != None and not found:
if current.get_data() == item:
found = True
else:

current = current.get_next()
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return found

def remove(self,item)
current = self.head
previous = None
found = False

while current != None and not found:
if current.get_data() == item:
found = True
else:

previous = current
current = current.get_next()

if found :
if previous == None:
self.head = current.get_next()
else:

previous.set_next(current.get_next())
mylist = UnorderedList()

mylist.add(3)
mylist.add(31)
mylist.add(71)
mylist.add(10)
mylist.add(5)
mylist.add(1)

print(mylist.size())
mylist.remove(5)
print(mylist.size())
mylist.remove(100)
print(mylist.size())

h d . c oo ¢ ,] c o ¢ c c o oc.
python code GC\D‘,OOC\DQO ﬂoﬂCoO (08]0e]] S’B?SCL)QCGO’J? (QJ?GOJ’)O%GOQ remove 3’3(L)Co

@zog):o']@u

N

o ¢ oc
mMOOOOC 6613
L L

G0
|—80

cqﬁoo append, insert, index, pop o)cnoeog(r%ecn? ecgoqﬁ:e%s 306§

o

c c
3’300’]0)00"

The Ordered List Abstract Data Type
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C cC O C (e . o 2} C C . o
323 MR|$60000) ooo[gseoog ordered listm © mz@@qesaocu Ordered List 300mm

o C

c

2 0%
. o C s C O C oc¢C

602 unordered list ) ©UP0D0 $VOOOP CVMDOICE

o%ooosooé list e0ln Order List &

s~ O
3338080"]6(\)8?603?

e OrderList() et‘z)oo class 000323 w%o%geoSu return 0eo) empty list @%eosn
remove(item) ceom list 0O §2005 item M @DVl
. 3 2 R0 ? Y5
. . Y . oc C
e search(item) meo) list cogd item oled] ﬂoo']coegeoou
e is_empty() meom) list oo empty 0?0590?05 saog(ﬁof]n

N

. . N . C c O [o} o O
o size() meo list 0L item 3DLVOECXDM §AOCOIPOIDM O

60

o

.
3aorgmoflu
@
1

. . . N . C . [of (of N o
e index(item) oeom) list 0O item 0D 2DWO position , IDWO 32953 Q5 300D

—
|—80

return @%GOSG’)O"]II

[¢] [ \

C =} o (of (o
e PoOp() MmeonN eq?’)ooeo" 3aa§zo? CQODLWIl 323 value 03 return @c?eogeoou

C - .9 ¢ c C. o, € 0O c . Co(e.
° pop(pos) Me0x) G‘?')(D&)o 333<§ U.BOJU GOOC\?(TJQDQ 338§o §OU)(Y.E (.QJOOGLDII boﬁl

Y C
C 3'53 3’38?30’) value 0? return [§§GOSOPIQODII

Implementing an Ordered List: Linked Lists

. o Cc © e (e o C cC O C . c © o
Unordered List o) co§oozooo:@3b 3607 M$60200x603 320 Ordered List ©0§00:@

¢ O Cc o

C s . o ¢ o) o (T
GS(’DSGOD?O’]C)’I.?EII Ordered List MeOo §OCDGO%)('T? 3'30)3'30)8(\?00 ©002320C list O’]II

. o c _C oC . \ o [ [
Unordered List ep00602 §OU)®8€U) 3200C: list coen 6]61?033 e(JOOOO']OOSII 3.‘16@)0
i o o L i 1 L IL °
(-] . \ O . C c o _ ¢ C C C 2] o
Gmemmem list 0D item OO@GO’J’)QQ)&)G]_C G)@G(D value com [_BSOO’JOO Q003
IL ° L 9, o L o o L o
C N C C . o O C [ o c O
?TJG]_Q()D" O]%G]P 33890?'3 nggm@qew" Unordered List C\?Q:l”_g CI)QQJCQ)C\? CI)@C\%
(055 G(erSO’]CTI)LSII

C

. oo O C
Ordered List 0O @&261633’)0

. NS (% [% N =] (% ¢c o0 ¢ =] ¢ o ¢
Unordered List § 30C20600050101 0300500603 950 [03:09c00030 32630000505

]
dcozomoli
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— head
list | ]

End

Cl c o ¢ o c c
3’3? ass OJQ)? ('T.P w§m°@@qemc

class OrderedList:
def __init_ (self):
self.head = None

C OC [of C cC _©
sloeon) 32C203C:01 0Bs class 0009 vsa3zam:omali

I—C°

. (o} ofre (2] [of C (o} (o} cC O (o) (o}
Unordered List 336@30303@3@ @o)oo 3200 MR|$60D0YE add o 6$IML 660
(o] [ o L 1

o,

c o ¢ c
OolI 3’3? search ecosm OC\?(TJG]_ng’)CII

def search(self, item):
current = self.head
found = False

stop = False
while current != None and not found and not stop:
if current.get_data() == item:
found = True
else:

if current.get_data() > item:

stop = True

else:

current = current.get_next()
return found
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[ N ] C cfe O C C C C C [¢]
code Ueslev]oaleaal-Rertotoe @zm@emm@m 00Culoovdi Search 00HooWS | §PODWO SV
L ° L L [ L i) [
C C C [ (o C o =] C C s C
Q00 Q06D MEON qczqcsemgo']n ooo)&?g@cgo)e') 3 value vpo0QDs | 000§ C
o ° 1 1 1 L L o

co c c (Ce o (e c c o ¢ NR) c
value m 3’3? C\)mﬂ 3'38§SOO('D @86%(\738&?@8 (D(D()']OOQ)II GJDC\B <D®61C\) SCL)GCD? OCﬁO?S
c oco

60800 @80@0&30?00 ﬂGéfGCD? @8&8’3861&60303 GQDQJ’)@ G:?)(TSU)(YSS’BS%SGOQ?’) C\)ég

o} C 3N o ¢ c c o c =) o o0 oc C
GG]GO’I)O’)SII 3’30’.)03@ 0§30): SZ)G]_CGO’J’) Gc?’)(DS’BSc‘f%(TJ &)O’JOC)')S[(_.]S GT.)(O C\)O’]C\)GG(DII
1 ° L Ile 1L L ° L o e L °

C o o 2} C ~x O o C C
ome[0gp¢ Search a3 3280 ao:(Q: 326 C6((pgROcd D603 Search GCig:0005 2060

(of . ocC cC O oC C . C cC O C
c0looo Ordered List o Add 320C: estevian elo']meeoou Ordered List m COPOLLOZDEC
1 1 L o Io ° L
cCOo [o] C
© c?o']oooou

c ¢ | c (e, c [o} c (e, ¢ o
GD@GQ) value com @O(I)OOCD’D(T? ﬂ)q_@@ll boq_C 323 336?]0219’3 (o8]0 0

def add(self, item):
current = self.head
previous = None
stop = False
while current !'= None and not stop:
if current.get_data() > item:
stop = True
else:
previous = current
current = current.get_next()
temp = Node(item)
if previous == None:
temp.set_next(self.head)
self.head = temp
else:
temp.set_next(current)
previous.set_next(temp)

323 add function 0’% qu[(?]go'][f;u code eQ0: oosuogemoog @éq@m&u Search oales)

ofe o 2] . o] o C
600y found s5(Ge 3209:(g|aon:(Gse0m? add ¥domME0oy previous o) 32032(g|a00:6ldWON

co c oC € c c [ co [ N
309 C\)OOG] 838§260’JC8000 333§SGO I 3']637) (ngt%emooem(m C\'.)mﬁ] 3331%8 0
L 1 L ° 1 [ (o] 1 o o lo

® s c o c o c¢c ¢ 2]
[98?(703 8’33:?8@’)36’) value o (D@C\?(Y)SIC G]_Of][gll

1 L

oc . c c o c (e c _c. c-e o
Search 330.?080’]()" (QJ?GO’J)O’%GOQLUJ Loop OCD[SSGCD’OJ OO@QOO item (I)(D[—B‘JO’J)(D

=

ﬂ')O’JOSII G§')O$JSZ:_)3 3’38%3 QGST)(YSG@&: ﬂ)OI]O’.)OSII é]QJQGO?US current item o C\')ng
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. c(-e oo c c ) o ¢ . N
item oom@zogozemze?bzeoo?m@s ﬂ)o']oooou 6[—9817'.28&? Ce0D) previous Q)(JJ)

o c c o N o c c
current (II? (I)@O’JOOII current 0?6(7)’03 current 610 next 0? OO@O’]U)ODII

o Je. 9o ¢ C o <, c . L~ ¢ c
ong)oB&?q_C e@me?c, 338§OGGP(TJO~3’)°C\'.D° QDG]_CGGB’)C

if previous == None:

38@ 0lon 001l 6§I0H302 329§3306CE0M 6$HMAD: 3295260 002000MYOsOlI
L °§P °P L° '?" LG]. 3 @ L° ‘§°J &,o) L "J °

[o} C . N\ o C C . Y [¢] .
ODS&L)G]_CGO’IO) item 610 next (II? current (I)@GODII previous 610 next O?GO’IO) item
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020D
L iL

oQ),

§, Node scos qj’ogeoch?nSéjo']Ou Code 0 0QuOEQUd .§§§j ﬂé:ﬂézcﬂéu (rgﬁecrf)

[o}

328m Search §, Add 0 e[gpogzonudi 0q)$0me0m) Unordered List § 60lCzad §oowdn

. ! cmc c N oc o ¢ oc
Unordered List EJD exercise C\?O@(DOD@QPLGOQ 336§§° pop SB(L)CSO? 0)880)’)8(980’](1)@

c
(S]0u]]

e}
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pop 0? 8618213’38(3,3303(7) ODBSOD’DSEQS]_GSB’DCII

o

o (% C o C [0} c O N
OOO@&LDS 0)880)’)36]_&]9')@ G@O’J&L)S 8’33§80? O’JODC\?OQ’.)S@Q) ?
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G?’DOOSCL)S 3’38?8(7.3 C)OODC\? LQJ(DGC\D

(% cC O C o N C o C [ C [9] C
(78]?60’3)0% 3’3610(7) 6618(13')8&3(.\?0{]0" e@me?z 333§8(D None @(DODLDII 3']&?61060303

cCo \ [of \ C N C o C s =]
o€ Node ¢ next value 0o None @oaog)gz;;qc 353lm 6§D30: 329§:01l 3607

N C C co o C
current 8, next o> None e[gtjo)e@cz Loop 002 YOOI

while current.get_next() != None

c c C o €. c 0 c N C .[@ co e
G@@U)@?O’J G?’)(TJ&L)08§° UJOD(.\?Q“(DGC\') &L)(YJ')(Y) C\g(DOgL[(_.]II (.\)()’Jﬂ curren 610 Gﬂo

c o) 0 Co N
3’38?8?’3 next (T? None GOSC\?mﬂUr]OII

def pop(self)
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current = self.head
previous = None

while current.get_next() != None :

previous = current
current = current.get_next()

previous.set_next(None)
return current.get_data()

N [of cC O . (o8
00 323 0R|$60000) Ordered List class 0003

from node import Node

class OrderedList:

def

def

def

def

__init_ (self):
self.head = None

is_empty(self):
return self.head == None

add(self, item):
current = self.head
previous = None
stop = False

while current !'= None and not stop:

if current.get_data() > item:
stop = True

else:
previous = current

current = current.get_next()

temp = Node(item)

if previous == None:
temp.set_next(self.head)
self.head = temp

else:
temp.set_next(current)
previous.set_next(temp)

size(self):

current = self.head
count = 0

while current != None:

count = count + 1
current = current.get_next()
return count
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def

def

def

mylist

mylist.
mylist.
mylist.
mylist.
mylist.
mylist.

search(self, item):
current = self.head
found = False
stop = False

while current !'= None and not found and not stop:
if current.get_data() == item:

found = True
else:

if current.get_data() > item:

stop = True
else:

current = current.get_next()

return found

remove(self,item)
current = self.head
previous = None
found = False

while current !'= None and not found:
if current.get_data() == item:

found = True
else:
previous = current

current = current.get_next()

if found :
if previous == None:

self.head = current.get_next()

else:

previous.set_next(current.get_next())

pop(self)
current = self.head
previous = None

while current.get_next() != None :

previous = current
current = current.get_next()

previous.set_next(None)
return current.get_data()

= OrderedList()

add(3)
add(31)
add(71)
add(10)
add(5)
add(1)

https://blog.saturngod.net

Draft version 1.1

127


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

print(mylist.size())
mylist.remove(5)
print(mylist.size())
print(mylist.pop())
print(mylist.size())

Dictionary

323 List OC200 M1§607003600 320000 2069 6VlabecmM °o’]|§u Programming o>
PO Q% 603 §2:0R f g 9§

o C

Array , List 33@6 QPO &po%oo& data type oooc)?meoo'o) Dictionary ol Java

o,

o

N C . . [0} C
€602 HashMap 3269 00300001 PHP ¢d>603) associative array o 6aloudl

o

Dictionary 61 328m (?)6 meo) Key Value oli value eoooo Key § 2362 [(_.] 60 @

0UOEDEC 3288250008 VUIOO0 Key § [§§00056 qulowdl

o

dict = {'Name': 'Aung Ko', 'Age': 7}

print("NAME: " + dict["Name"])
print("Age: " + str(dict["Age"]1))

333 code & @éd"e qf: Name,Age ©0ID60M Key ol Key 0% ooéc\c?’(ﬁwé 339’](193

Oo

Value qco')oooo'% 60§ &0 w0l dict["Name"] 3200 dict[" Aung Ko"] 09% eaTelé Name s§[§
C

GDOOL\)’)‘:D 60?0)0 2 s Value (TJ&? Key ('T) E"\?GSTC\) 661(5]03 Il
[of [of C [of

G§')(I)(I)O 806’) @@qGS’B'JC qPII

personl = {'Name': 'Aung Ko', 'Age': 7}

person2 = {'Name': 'Ko Ko', 'Age': 8}

room = [personl,person2]
for person in room:
print("NAME: " + person['Name"])

print("Age: " + str(person["Age"]))
print("::::::")
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(% cC O . . [¢] ~ c o C C
02|$60200 Dictionary 0 array cog copocom HODWII oo§8 GEPG]_C 333§ ooe’.) 6]00@

o,

c N c(e c
(.\RGO’g 3?(7?§ array OOQJQ') @@[9060’10) [§§(IBO’J(D')OOD&?I OOGO’J’)GO.’],II

for person in room:

o] o (% C Y [o] C o ~ C
&I?U.)')(X)GUIO) room array (II? |OOp 00OVl S'BCI)%D ﬂ&)t')_’? data (II? person (I)?') OO@@
C [¢] [ . . (% 2] \ 0 N N croe N [
(Ou]] C;]&?G]_C person dlctlonary @@Og)g(ﬂ[gll 323 oomeq? key i [§§[93 &3(1?030:)’38033

ol @séoﬁ code § evlleaalealial 3200000101
o o o IL IL

Updating
Dictionary ¢ Value (Y?L) 33[9@%@6@ Update C\?(SC\% 61(5]0005"

dict = {'Name': 'Aung Ko', 'Age': 7}
dict["Age"] = 9
print("NAME: " + dict["Name"])

print("Age: " + str(dict["Age"1))

cCocC

0o 0 update QOOSCO 000l

Update moooesae’]mme Key & or%

o

Delete Dictionary

Key 02 [4§(Gs godoqicqc

dict = {'Name': 'Aung Ko', 'Age': 7}

dict["Age"] =9
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del dict['Name']

print("NAME: " + dict["Name"])
print("Age: " + str(dict["Age"]1))

) o ¢ o) o) c [ N c c c oc
3 code o &3610 Name o) ((“ C\D OO 3200 [§§CDU)OOQ 3’38']6') Error @00’]0)66
1 L L L [¢] L o 1 °
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c
ol
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36Q00M &?61060’.7) Dictionary (YJ 33:?8 COO QDGUJ’DG()'](DG(\D(TJO'][(_‘]II Dictionary om

coc . °
G§')(I)(3Co programming G(Yg 661003&2 3?8’]%9') 8@@66? SBO?oOC(U.)O'](.\)GQODII Web

o

Development 0C:600 037:0000323lwd API § °0530<73@°e 20000 320C2e0 Dictionar
p L°oo°@ )] '?oql °61°@ L °] y

[e]

N ° oc ¢ c o o)
610 3’36618()‘—](36080? GUgOC\D QO WII 33?07)3?0(1:06(179 3’38@8 OOGUJ’JCDGP%GC\)S(Y.BOO’)

c c c c
()aﬁGUJ'J G(O')[QOZ)')SO’]UJODII

eagqée%s G

C (of C C [e) C
oIl 6300 code esle gender 0 male @oeoo') 0GP e«o[gof]n

room = [{'Name': 'Aung Ko', 'Age': 7, 'Gender' : 'male'}, {'Name': 'Ko Ko',
'Age': 8, 'Gender' : 'male'},{'Name': 'Aye Aye', 'Age': 7, 'Gender' : 'female'},
{'Name': 'Htet Htet', 'Age': 8, 'Gender' : 'female'},{'Name': 'Win Aung', 'Age':
7, 'Gender' : 'male'}]

[e]

[ c .~ ¢ c c o c
JII SBGD(TJOr] code OgC room (I)OQC 2300 8] C\RE{PS@% OBO?GOr]CS SBOO(T)(Tf G(O’)@GQ)’D

(-

code eq:@oflu
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29&: 9 Il Recursion

N

333C° (<3 (YSCD’D@&%GOO’) rogrammin OOSOO(YS@“GCD’) QO CGC\D’J(T(:)O"]@II 329
$ Qe P60 Prog 9% 260R oy :

e oc¢c ¢ o o0 e
chapter O’JG§ (DBSGUJ’O) GCDGOC.)QJ’)%P (\?0’)03880)’38(8 (\?C\'.DIQII 3’3? Chapter EJ:DGCD’O)

recursion 336@')68(7% ﬂéSBOgDSOr]G()SII
Recursion a§oooc\3

. o . G c o e c c \
Recursion &?UD’)(YJGOO’OJ programming EJ:D OR@CD@ @QI):?’)O? UI_EEOO@ G@ﬂcgﬁf 3

03] 03l §C000) GdUlN 0ogp023a2(YC looping § s0C030l0N looping e 0w
FCEPR § $EI33E(YE l00pINg ¢, ? pIng 2 05

co(@ o co c . c c oc ) . . o Mc c ¢
U)ﬂ@g &?S?O’Jﬂ()’]m()f)ll Recursion ?’)C\)eg UDOOS’BQJ-?%D 3 function G)(ﬁl_) E’c%O’(C))(TDG(D

ofe O C . =] . O C C 2] C o
(G §Uloudi recurrsion aneo 3 function 630 b8l b3l e3les(Gie0m) DD

function mes [§$0ga0ag0:005 32050l
Recursion or% oooSo% 03205

c c o c ) c c
08]?60)’)0% e3200DM 808’)6(\30(71) @@q@mcn

for x in range(@, 5):
print ("Hello World",x)

[ C . C (e O o C Ny C
code eco:me0n) ﬂcgo']oooou looping ooo[g:eoo'o) Hello World o) $0026003$ 00050003

[

f] c € 0 oo c c c
0200l ORWGO’J’)CY% (L)(D G@DC%GGIS@@G]_GGZDC

def recursive(string, num):
if num ==
return
print (string,num)
recursive(string,num+1)

recursive("Hello World",0)
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é]meoog recursive § @%[Qcc:eelgmzo'noplu code ecozor% 2060me0lmHesNE @é@é

Of]II

recursive("Hello World",0)

o[e . o) c o ¢ c
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def listsum(numList):
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sum = 0@

for 1 in numList:
sum = sum + 1

return sum

print(listsum([1,2,5,9,7]))

sum = 0
for i in numList:
sum = sum + 1
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[ N
3230C603 32685,

sum = 0 + 1
sum = 1 + 2
sum = 3 + 5
sum = 8 + 9

sum = 17 + 7
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sum = (L + (2 + (5 + (9 + 7)))
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listsum(numbList) = first(numList) + listsum(rest(numList))
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def listsum(numList):
if len(numList) ==
return numList[0]
else:
return numList[0] + listsum(numList[1:])

print(listsum([1,2,5,9,71))
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fib(0)
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fib(6) = fib(5) + fib(4)
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fib(n) = fib(n-1) + fib(n-2)
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def fib(n):
if n < 2:
return n
else:
return fib(n-1) + fib(n-2)

print(fib(10))
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def fib(n):
if n < 2:
return n
else:
return fib(n-1) + fib(n-2)

print(fib(10))
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[1,2,51,34,37,78]
s = 37

for i in k:
if 1 ==
print("found")
break
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[1,2,51,34,37,78]
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for (index,value) in enumerate(k):
if value ==
print("found at ",index)
break
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def search(array,search_value):
for (index,value) in enumerate(array):
if value == search_value :
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return index
return -1

res = search([1,2,51,34,37,781,371)
if res !'= -1

print("Found at ",res)
else:

print("Not found")
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search_value = 18

8 14 18 20 26 66 78
first mid last
search_value = 18
8 14 18 20 26 66 78 ‘
first mid last
search_value = 18
8 14 18 20 26 66 78
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search_value = 19

8 14 18 20 26 66 78
first mid last

search_value = 19

8 14 18 20 26 66 78
first mid last

search_value = 19
8 14 18 20 26 66 78
first, last,mid

search_value = 19

8 14 18 20 26 66 78
last first
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k = [8,14,18,20,26,66,78]
s = 18

found = False

first = 0

last = len(k) - 1
while first <= last and not found:
mid = (first + last)//2
mid_value = k[mid]
if mid_value == s:
found = True
else:
if s < mid_value
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last = mid - 1
else:
first = mid + 1

print(found)
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def binary_search(array,item):
first = 0
last = len(array) - 1
while first <= last:
mid = (first + last)//2
mid_value = array[mid]
if mid_value == item:
return True
else:
if item < mid_value :
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last = mid - 1
else:
first = mid + 1
return False

print(binary_search([8,14,18,20,26,66,781,18))
print(binary_search([8,14,18,20,26,66,78],19))
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C [
32OYMMEOR) 6CYM|CI§: 326§

c c c (e . . c c
08]:%603’) G)O[SoGUJ’O) recursive ieqo@@qesaocu

def binary_search(array,item):

if len(array) == 0:
return False

mid = len(array)//2
mid_value = array[mid]
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if mid_value == item:
return True
else:
if item < mid_value :
return binary_search(array[:mid],item)
else:
return binary_search(array[mid+1:],item)

print(binary_search([8,14,18,20,26,66,78],18))
print(binary_search([8,14,18,20,26,66,78],19))

. C N . o C cre . [} o] ocC
first C last 3200z array €, size 09 0200500 (G:607 Mid 03 WIAN:00) 60RSCU

C . C . C (o] C C . C
0000l array[:mid] e array[mid+1:] sae@)czo? 6007 (P|$E0M recursive 3235260 6§:

) c c c c ¢ o c c o c c ocC e
GDSE.]%OD’)S @OOD@ 3’308(73 @SNQG(DC\'L)D CDCO']OJQ)II array O? CDOQ’] OOOSPI (L)CS[SS ﬂ)

o C o c c o0 c N L . N
G‘?[So G‘?’)OO&?O array (T.Bn?Qg)oG]_C OCL?’QU.BCD ﬂ)GO’go?EJQOCD recursive function G)(YD&?
c

o oc c
OQ(TJQJ:DO? GO’g{}&LCO']UJODII

Sorting

c c o c . C c N
08]?60’.7)0% program 608 661000&”)338']?’) sorting oooc\)@o 3’366100’]()103(0" Array OO(JJJ

C ocoo

OOD 5 U)r(%°6(7.)0% (Y%OSUSC sortin @CG e SCV Of]m(f)ll thone')sortin 3’30)08
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built=in f ti r] . c . c c o N . o)
ult-=1n runction 608 O] (I)’JOGOJ)C\)eo (T&WGCD’)O% 3ae§§oprogrammmg ('T? GC\?C\'DG?

c cmc c c c ti c. 0 0 0o o (O o)
QD&,‘) 33&39@000&) 33030’36@’)9 sorting §eo 3’34:“[&:]“_0(7.3 OCL)Q[BOGO’JO) array (T.L)

. c c
sorting C\?OQg)SO’]B(DII

Bubble Sort

S t ~ 0o (‘o o . (‘o (‘o ']\ (o o]
orting a0e 32§332§C3aDs §p0:00:0l0N 0P|§60220)6D
[9'1’8’6'7'4]
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oc¢c ¢
&DO’J array G](I)()OII 333']00 sortlng C\?(TJG]_C
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3']&)610 23cr-plesleslaw) (:”I_S 0030C @CSO) @@Q?)SO']Q(DII
L L ° o

[9,1,8,6,7,4]
[1,9,8,6,7,4]
[1,8,9,6,7,4]
[1,8,6,9,7,4]
[1,8,6,7,9,4]
[1,8,6,7,4,9]

C o c © o O ) c c c c c
33? (5 (DEI?S 338-?800 33[_92&?8 (7? ()'][(__]II G-?’D(T) 0030C 330)006:% @c%@G(DII 3’160609

C o C o] C O [o] cC O C o] C o C 2]
S$OMAD: 3234500 OOW SCVSOIDISII O’J’)B‘DC\)C\)@S D60 Gz?’)(DSOS 3’38?8 (@) 3’3@8
L Io L Cg 1 o L 3 L

o [ (]
aio value @@&?OO’J GOD%POQ’JoO,] Il

[1,8,6,7,4,9]
[1,8,6,7,4,9]
[1,6,8,7,4,9]
[1,6,7,8,4,9]
[1,6,7,4,8,9]

©o
0.
3
3-
»

£
3-
8-

<L

o ¢ € o ., <, . c e © 0 o
33? 3?610 G-?’D(T)E{L)o 3’38-§o J 3:%(7) sorting @(D&?[SII 3(\? (L)

or e S C_ o, . ,] . cre. c c o oc c
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[1,6,7,4,8,9]
[1,6,7,4,8,9]
[1,6,7,4,8,9]
[1,6,4,7,8,9]

c c c c c c c oc o c c o e o » 0 ¢
()8J<§GUJ’) G«?')(YJ 0030C CDOGSLQ(DII CTJLDS’BQJ<§G) (ng:?GO’.DO% 60’6) 3(\? G.gLGJJ)C\) &?610

602 e§3c6m6§ ®[§z 66,30 333%3 eepcf)esaof: B0

[1,6,4,7,8,9]
[1,6,4,7,8,9]
[1,4,6,7,8,9]
[1,4,6,7,8,9]
[1,4,6,7,8,9]

N o ¢ c c o . @0 0 O ) N c o c
0D 329 &361CGOO’) (YgJ.?GO’J)O’)GO’) sorting oom OO(I)’)ZBII 323 3200 code GGFLO C\'.)()Gl
L L ° lo o L L (o} L

c
ce320Cll

def bubble_sort(array):
for num in range(len(array) - 1,0,-1):
for i in range(num):
if array[i] > array[i+1]:

temp = arrayl[il
array[i] = array[i+1]
array[i+1] = temp

return array

alist = [1,6,4,7,8,9]
print(bubble_sort(alist))

code 6c0zmME0M sﬁzﬂéso']oocﬁu ozl?:@ozmmecn? range(len(array) - 1,0,-1) oln 333

o] C o C c O o O
36pWMEo) len(array) - 1 meg 1 3200 loop VEOELIY e?cgoooo']u

32(gps language 60pene0R
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for (i=len(array) - 1, i >0 ; i--) {

}
zfe@z eqs@o']ooof)u

(% C C C
python @(DQ)[Q_‘;) 3903006@39
for num in range(len(array) - 1,0,-1):

ofre
3?[33 eq:w:)zooo:oo:)o']n

o} c o oc oc ¢ C o
Array 0? nested Ioop OO)(I)’)?,OJ')(T? GO&%CO’]C\)@GOOII 000Q Ioop 0060 G‘?’Dm LS

o]

c c ° c o c c
3’38<§SO’DG<§ ©000O O(I)GS?S 3’38.?3(1)" SLOOOO |00p D60 V0L 3’38?8006? (n]eslee]]
o} c c C s 0 c » O o c c
range(num) oo Ioop OCDOr]CDOOII CD’.)G@')(O: 3’3(\? Ioop 000300 &?CD’.)('T?GCD? ('TCDLWGOJ'J
o) c c ) ) ° oc C o c e o c
O% SBOO(TJSD 908@@80'][9" 0@6&?8 33[_96?’) G-?’D(T)EI?S 3’38%8@ 33@28?2 value ocoo

c c _Cc[oc o ¢ C o c c c o o c
ol G§')(TJCTJ®[—BG&?G]_C G‘?')(TJ&?S 3’38?3 oo&ogoo ng QC\'.L)GO’.)?O’I.ESII 316@)90’]"

) o \ O . ) © o ¢ c c (e C o c
3?’) O’J’)@OJO?’D?]CO &?Ga)? sorting ODGj)S[BSC)CDSQZL)GICGOGQ? CDO[98 33(?:?(.\?8 Ioop 00D
o} oc c e e ¢ c o0 o0 O o} N
G:?UJ’)(T.L) GO&%CO’]CD(DII sortng 0300’38@8?.?2 O’J(.DC\? Q)C)C)C\)&?GO’J? SLO’J(.D Ioop OOGJ:D
c

0)088,](? data 336[9')6833(’.\5 G(\?{)G]_Gléem? sorting 8@38@8?%8 OS%C()’]CDOSII

C C cC O o C C
sle[op¢ 0g|§60700) 32905 [§Cegzoloudn

def bubble_sort(array):
exchange = True
num = len(array) - 1
while num > @ and exchange:
exchange = False
for i in range(num):
if array[i] > array[i+1]:
exchange = True
temp = arrayl[il
array[i]l = array[i+1]
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array[i+1] = temp
num = num - 1
return array

alist = [1,2,3,4,8,9]
print(bubble_sort(alist))

C cC O [o) C . C(oe C C cC O
M|§$60000) exchange Colenley) variable emzoo&g[ggeoo? loop C00CPVECVVIVOD

~3o

oc o ocr] c c c c e 0 0O € 0oC 0O ¢ c(e
G)c%S(I)')SOJ)(D 60DSCOIO0WIII OJ(DG@')CS@C?,(DOOGOJD MMLOOIC C\)(T)@@IQSGOJ) §32
L OclL L ° L L L J °
coc ¢ O c c
0389¢%CENJDO%(I)CLHODUDH

Selection Sort

. N C C [ OC ~ O C C
Selection Sort coe0) bubble sort ieocd]oooou 0pNE0) 32QC: | PCIZVMOOWII

o ~Co

o
c (o 0cC c c _oc c oc o0 c (e
sort C\?O[BSOO’)S @?Cg osort eC\?OQG:DSOO@ 3’3(8(:3” sort C\?O IO WA GBLL)CS(T? (I)O[gg

)

° N (P co o © ° c
€0 sort QC\?OGOJ?URSII OCDQSCL)S 3'36:?%330()3 acez CDc?(IOS('DL S [-98600? OCDG&?% 3'38§8

N c oc¢ c c _croc o c ) c C o co o
(00]~ 3] GDEC\)(TDOOOOII e (730)@[_99 30000 333:%2(7)6:% ®|—886P600II 32C0OO030D: 031?(08 m
i S L L i L L L

o) C c _c
30000 3’38?8(138’) (I)@GLDII
L 1 o

def selection_sort(array):
for num in range(len(array)):
pos_of_min = num
for loc in range(num, len(array))

if array[loc] < arrayl[pos_of_min]:
pos_of_min = loc

temp = array[num]
array[num] = arrayl[pos_of_min]
array[pos_of_min] = temp

return array

alist = [1,20,31,444,8,9]
print(selection_sort(alist))
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o} c o ¢ c o c o C o co o
code GC\DSO? 336168(7.3 ﬂczo']oooau ()CDGE!?S 3’381?8(71) 3’30()3&?8 CD-?LLOSC\B 30600000000

c [e c C C o o (e C . C C o co
ol [988(7)’) ODOO(TJCODOD@ array 6](\)’)8&)[93 GT)(TJODII GU)SG]_C 32C0O030: O’)<§(08
°o o 1 L 1 Qco L L

o

. 0 . O C c C o [ . C c o x 0 ¢ c
location (7? L\)C\?OOOJ(DII 3’3(73 C\?S@zog)zgqc array 3'38§8(7? G?GPL\')C\?(D()']O)Q)II

o o C o C
Array (30)0'.) Gmmm(\? Gao:)g)sof]ewll

[1, 20, 31, 444, 8, 9]

[1, 20, 31, 444, 8, 9]
[1, 8, 31, 444, 20, 9]
[1, 8, 9, 444, 20, 31]
[1, 8, 9, 20, 444, 31]
[1, 8, 9, 20, 31, 444]
[1, 8, 9, 20, 31, 444]

o B W N R O

Insertion Sort

c _c c . o c . \
G§')(I)(I)O sort U)§88(DGU.)’°) Insertion sort C\B> GS’T‘O']Q)(X)II OT?(YJGU.)? selection sort <§°

c c 0C ocC 0C «(© c c
30C0ooWIl sorted 33(308 q?ounsorted 3B(L)CS (308 §[98€03? sort C\BOO’]CDQ)II

[5,6,4,7,12,9]
o [of o (of o [of cC Ofe o C C C © O [of (o]
30§ C VOOLED: 33§ sorted CYVADI:ODWOFV|Y: LICVNIODWDII sfle@')co: o)[ge?qc 5 §¢
~ O (o] C (o (o o (o oC (o] (2]
6 £00 VPPODLOII CUOADCMN GCLOI:II 3’]39610 sorted OCsm 5,6 @o)ogoz@u
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[ crroc o ¢ o C C N [ C C C
329 6§700000(0366180qCE07) 303UD 3295200 LW 6 § 4 VHODLON 4 M 6 COODCLD

"
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© C N C C C C C cC o C Y C
[9861C 5 §4 C00WPOOWIIN4 M 5 COVCLOOOWIII 3602 COVEFEPAOCOWII

[4,5,6,[7,12,9]

sorted (T)cr::oo 45,6 @E)og):[f;zeoo? unsorted meo» 7,12,9 eo'lu

e}

c c c c o o) ) oc c
6 <J§C°2 7 ij)BCfJ(DII G‘?’)(TJ(TJ 338§2(TJ G@SURSII 3607 SGBU.BC‘SCD'JSO’)(DII

[41516171 |1219]

sorted m 4,5,6,7 ?%c:: unsorted meom 12,9 Clu
7 §§ 12 (lj)éO’.)(lSll 7m COSG:‘f(DOSII Scom B$EP 068,003l
[4,5,6,7,12, 9]

sorted m 4,5,6,7,12 ?Q.c:: unsorted meom 9 vl

C C C C cC © C C C C C
12 $C 9 02P0OOWLOI 9 D CLOEFODWIII 360 6§ 0OWIII 7 $C 9 LOPOOWIII 7 D CLOEON
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e . o o c o O c c cC € \®
3 Insertion sort Q:D 32000 D607 GQOS?C\)S i Gc?')()’) crlav (Ye BO’JODII C(DﬁlC 323
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=] C C [of C [of [of cC O C [of
3 code m $O3§003 OO 30N (P|§60700) Pseudo code 603 eqz@gqsmcn

for 1 =1 to n-1

element = array[i]

j=1i

while (j > 0 and array[j-1] > element) {
array[j]l = array[j-1]
j =13 -1

¥

array[j] = element

]
scodego

for i =1 to n-1

o C C (2] o C [ C [ C
000D 3’38«%8(73 sorted C\)OCIDS[SSC\) ODGC)’J’JG)’J%ODP_ID 320000 (Tth?GCD')CDGCD 3'38?3
L L lo o [¢] [ [

[o] 2] [ C
™ 1 mes o)bz loop 0EDC0lEDLSN

element = array[i]
j=i
while (j > 0 and array[j-1] > element) {

N C C - C (e O C C C
323 loop COEd eEPME§OM position eoTejso elfo:)@boeoo? value LXMWl 6§IM
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array[j] = array[j-1]
j=3-1
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array[j] = element
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code or% @zmé@eﬁ)q& python $°eqz@éqezaoc°:u

def insertionsort(array):
for i in range(1,len(array)):
element = arrayl[il
j=1
while j > 0 and array[j-1] > element
array[j] = array[j-11]
j=3-1

array[j]l = element
return array

print(insertionsort([5,6,4,7,12,9]))
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gap = len(array)//2
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gap = 5
[5<-,6,4,7,12,9<-,1,8,32,49]
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° [ L IL
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[5,1,4,7,12<-,9,6,8,32,49<-]

12 § 49 00002 0O © ©O3D:I 329 66 O3 329§:006$ 66 O gap & G 050’][§||
i E° I Lo’ L ﬂo L° §° ‘? (G,]_o gap ‘?6P SP

:ﬂe@a{: 0O eegloeoorgo']qalzu 323 gap oofﬁos or% @%s@pézcﬂedﬁn
gap = gap//2 == 5//2 = 2
(‘Oo 2 (o (o [of (‘o O N (‘o 2 [o] (of (o
323 gap 00§ @ooo&z 320 32943 0 § 32953 2 M VPPODMES POWDII

[5<-,1,4<-,7,12,9,6,8,32,49]

o o (o C C (o (o S C (o (o (o
5sc4m LDeOD()OII (e{00}00] SBOD(DG'?&T)CUUD(DII 0-20m0o0om COOCD’JSOO&) 320D
159 L 1 S o o S fol
(of C(oe
00 30M

Ccs

c c c c c
° Q(DBGUJJ(I)SII Gc?')()’) 3’38§3 CO00DID:000L0II
1 ° L [¢]

[4,1<-,5,7<-,12,9,6,8,32,49]

c » O o c c c c
1sC7 0000 0o ecpoo S’DSqlSS G0 03D:00VOII
1o lo L IL o

(4,1,5<-,7,12<-,9,6,8,32,49]

54120

G0

o
Q00D
L IL

(4,1,5,7<-,12,9<-,6,8,32,49]

7590

G0

o
00
L IL

(4,1,5,7,12<-,9,6<-,8,32,49]
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12 %6 & 12 m @:eoo? A3 [§geoo'°) C\)(ﬁé)] eepoge§ooé 3’39%3%006 4 -2 (gap)

[¢] C N C (% C N [¢] N o
= 2 3060 3’38§3 2 o value § OC)OQ)BUJODII 4 4? 6 30607 O ®GI)GC\)UDSII
L ° ° i) ° L ° L I

(4,1,5,7,6,9<-,12,8<-,32,49]

el

[} C C C N C 2] N [¢] C [ C C
9 $C 8 M VIPODWOII F28§300 COWDII Lc]zeoo? 7 §,8 0D COVLPPOOWIN 7 MO CUOESE0

N

GC\DO’I.ESII

(4,1,5,7,6,8,12<-,9,32<-,49]

[e]

[ S o
12 $C 32 00 @ o0l

[4,1,5,7,6,8,12,9<-,32,49<-]

C ~0 o
9 $C 49 0O LI

2
e

o] (o o] [ [} C (e N C
329 gap m 6§),© 3292 0§ 3309(73@@39 gap ™ ooo[goeoo? 2 § ®:0WII

gap = gap//2 = 2//2 =1

33 gap m 0030 @05030"00 300 e@')é 2 28§2 ©0 A 60
L L 0°° S o S ‘§° 3
[4<-,1<-,5,7,6,8,12,9,32,49]

4§ 1 cdewl

[1,4<-,5<-,7,6,8,12,9,32,49]
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[1,4,5,7<-,6<-,8,12,9,32,49]

7 $,6 030000N [Q:6077 5 $,6 COO LIDODLIN BCLOGOR) VASE0IsI
[1,4,5,6,7<-,8<-,12,9,32,49]

/ jsé: 8 ujjéoo(ﬁn 7m 005609? QC\S:)'IJL:M
[1,4,5,6,7,8<-,12<-,9,32,49]

8 & 12 ocoo:i
[1,4,5,6,7,8,12<-,9<-,32,49]

12 § 9 3600 [G:6007 8 § 9 WDODWON 8 M CLIEO BAS:I
[1,4,5,6,7,8,9,12<-,32<-,49]

12 § 32 0YD0ODWON L3I

[1,4,5,6,7,8,9,12,32<-,49<-]
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C C C S
32 $C 49 0YPOOWOI VEO:II

cre o N C C N co
gap o aom[§zognad ©ge0o 2 § [§§02:6077 0§60 [00p BO0EERO VMY

=90

o) o . e (o o c c oc¢ 2]
[9803)3 array (Ye sorting O[(_.]SOD’)S(.\B, ODU)JGU)C\?(D()’][L]II

[1,4,5,6,7,8,9,12,32,49]

o[e c )
8?[92 sorted array OQOOCU)O'][SII

c c o h d .9 c c
33? ORHGO’JDU% python code GL\DOO? @@S]_GS’B’)CII

def shellSort(array):

gap = len(array) // 2
# loop over the gaps
while gap > 0:
# insertion sort
for i in range(gap, len(array)):
val = arraylil
j=i
while j >= gap and array[j - gapl > val:
arrayl[jl = array[j - gap]

j —= gap
array[jl = val
gap //= 2

return array
print(shellSort(I[5,6,4,7,12,9,1,8,32,49]))

N

. . \ C
code M0 insertion sort °(y|)LO’IJLOr]O" (YE)T)@)SQJ(D(DG(I)?

while gap > 0O:

https://blog.saturngod.net 162


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

oo cre c c . . c 0 o
&I?[(_.jg gap GOTJG’) (Ifoo&?[gz Ioop OO’)(I)’)S()’]UJ(DII insertion sort O?§SO’JG(TJ’°) -1 O? O?g

9 (o) o [od
oc:och]zecnroJ 303 shell sort ©2602) - gap ™M wo?s@lomzorlmoau

c cmec. o o c oc cre o c C
code O’J(D&)COZ@CS O?GUJ') O?(DO?C [§§[Lj860’3'°) trace C\B(YJ@@O’]II

Merge Sort

C o c 0 c o N c
32 C&?S merge sort S’BG@JCS(Y.L) GGEPQCGJJD sorted array J ?0’1) merge .§°SOI’t O’.)(DS’]O’.)

c. c (s @Dro COBf] c"
&?o QOO0 326 1033 ﬂCo 0lLO

L

[4,5,9,18]
[8,10,11,15]

sorted arrayl
sorted array2

e o ted o} ,] C c o c \ ° . c..0 c
SCYI? sorted array J ELD ﬂ() OOWOIl merge C\?O(Ig 3?(780’) array J él.; 610 Gﬂoal)o J Sr%o()? ()?86

c c c c o ) N c _c
QOlI COOC)O@ 338§Z(D 03[98 sorted cow CD@GODII
J L IL ] o

° c \ o ¢ o C N o ¢ o C
3239 66] D3 3’33§8 488w &)610 4 ) LOVWII [93610 5 <§ 8w &)G]_C 500 LW array
L Il L ° 1 L L IL ° 1 L L I

[5,9,18]
[8,10,11,15]

sorted arrayl
sorted array?2
sorted = [4]

sorted arrayl

[9,18]
[8,10,11,15]

sorted array2
sorted = [4,5]
sorted arrayl = [9,18]
sorted array?2 [10,11,15]
sorted = [4,5,8]

sorted arrayl

[18]
[10,11,15]

sorted array2
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sorted = [4,5,8,9]
sorted arrayl = [18]
sorted array?2 [11,15]
sorted = [4,5,8,9,10]

sorted arrayl = [18]
sorted array2 = [15]
sorted = [4,5,8,9,10,11]
sorted arrayl = [18]

sorted array2 = []

sorted = [4,5,8,9,10,11,15]
sorted arrayl []

sorted array?2 []

sorted = [4,5,8,9,10,11,15,188]

o ¢ c (e c [o} c c ) c
SDﬁlC merge C\?O[‘jﬁ sort C\?OO’J)O? “?".)SC\)@ GC\)’)(’DO'][SII 3’3? merge sort %G@DCS

array = [5,4,18,9,8,10,15,11]

c c
CSOD’)S()']GOOII

e o [o} ) c c _c
13(1? array (Te sort C\?OLL?’SBOg(T) aoMmMOoMm >

~Co

[5,4,18,9]
[8,10,15,11]
[5,4]

[18,9]

[8,10]
[15,11]
[5]

[4]

[18]
[9]

[8]
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[10]

[ oC (e c N Cc C 0O 0oC C 2]
CseO:60) 002[98600) 0 3?300 (7.1]?03 3200 OCSQ)DSO']Olel [9380’.7)
O L o L o °

o,

C

S’]O’Jég sort C\?{)OI]Q(X)II

¢
S|
0,
"5
3
©n

[4,5]
[9,18]
[8,10]

[11,15]
[4,5,9,18]

[8,10,11,15]
[4,5,8,9,10,11,15,18]

'] o ¢ €. o c .[e
3 &?61060)? merge sort %G@’)Co t?')o(\)e(lg)olgll

c c o0e o) . o [© c o}
('T&WGCD’)O% 3 code GC\)S(T? recursive 098[98 GG]_SOD’DSO’]GODII 32000607 array J ?

3o
c)
—nn

) c oc
|93 merge 61&)@ S’BLL)CSO’]II

def merge(left, right):
result = []
left_idx, right_idx = 0, 0
while left_idx < len(left) and right_idx < len(right):

if left[left_idx] <= right[right_idx]:
result.append(left[left_idx])
left_idx += 1

else:
result.append(right[right_idx])
right_idx += 1

https://blog.saturngod.net 165


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1
if left_idx < len(left):
result.extend(left[left_idx:1)
if right_idx < len(right):
result.extend(right[right_idx:])
return result

def mergesort(w):

if len(w)<2:
return w
else:
mid=len(w)//2
return merge(mergesort(wl[:mid]), mergesort(w[mid:]))

print(mergesort([4,5,1,3,9,7,2,10]))
.

o C ocC [
32(gp: code 603036007 §320000 BlaSGEUdN C:(EP2oDMEN) 63IMM code vzdli

o

result.extend(left[left idx:])

co \ 0 c ¢ © c C
extend 0060 C\')(Dﬂ array G)(T.L) Gt?’)()OG)O array oo C\)D[gSGOJB) oop_‘goog QDGU)’)O’]II

array_1 [12,34,44]
array_2 = [6,8]
array_l.extend(array_2)
print(array_1)

c o) c c c ¢ o c
632000 code su:M 3'3?88000 (I)OG]CS@O’]S’BS@OOII
L 1 L

if left idx < len(left):
result.extend(left[left idx:])

if right idx < len(right):
result.extend(right[right idx:])

c c o o c c C o o c c c
O’JWG(TJ'J(D array o merge (.\)OOD&? 3’3816’) 32C0OO03D:c00M 32§ C Merge (\)033)3&)8
G L L o ] L o't L © o

c o c c (e
3200 33%”_ 338-?8600 33(D§ G[SSODDSCDSGO,]II
o] o (0] L o IL °

806’)
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left = [2,4,5,8] #left idx = 4
right = [6,9,10] #right idx =1
result = [2,4,5,6,8] #9,10 not merge yet

o (o [of =) . C C \ 0
323 code €2 30§ C left o (Q§ag)°[9|| right o [9,10] M]|$620:00LOII 323602 extend

o ° ] \ 0 c o¢
0? 3’3&?3@[[98 result OO(XB merge C\?O(X?OOO’.)’)O Il

309 &% 660’.73 m CGO’J’SU% merge sort 0% (2 °C\9) QD')°O'][§II code (73 sQO CGS?)& (73
L L61 o.l'? o g i 61" L°610° L'§3° @ L

c oc croc e o ¢ o C
ODQL)C OD&)(OE@C‘S(D trace (.\?(T.) (.\'L)O’](YJODII

G0

Quick Sort

. [} . N C (e o C OC C . o
Quick sort spoMe0) pivot §°ijaebzem? 300C: | OC: 90loo0dN pivot e 0o

—nn

C [of ~ C [of =] .\ 9 (of ~ o
33’)3[;99 array 3’38§SCDOD 3’38§80)®?(T.P random QJLL]SGCD? 323 338:?203(73 value (7?

o

ol

s

oOOOIl 329 ogﬁeoorr)or% random quC>.$ 00D 393%300 value 0d woledn
L lo ° L L IL
array = [4,7,8,1,6,3,2]
ofre (o] '] [of
ecl)[gz array §oloowon

c c o . t N o €.9 c
OQJ§GCD'.)0% pivo 3'BG§§° Gﬂoa?o 3’38§O(T.E (S]00]]

c-
=5

array = [4,7,8,1,6,3,2]

pivot = 4
less = []
more = []
pivotList = []
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(o] . [ C C C . (%
less SPODMDE0) Pivot COM CLOV value eo) 3'aorgmorlu more 00602 pivot com
(2} C [of . . . i C [of
@303@ value 3200000l pivotList 0oeom pivot $,00000 value 60 3200000l
° o ° ° IL o o o

o o} N c c [ . . 0 c _c
()CDGG?O 4 0? array G)(JJ) @@U)ODII 0|.2€<§610 pivotList G)(Yi_) GDQQOOII

array = [4,7,8,1,6,3,2]

pivot = 4
less = []
more = []
pivotList = [4]

9. C c c_c. oS v o . v C c o c c c
boq_C G-?’)(D (7)0)8?0&')’306(1)" (Tf pivot i(DO'.)OJODII [_908\?03&23308(738@39 more

B3 PN
array = [4,7,8,1,6,3,2]
pivot = 4
less = []
more = [7]

pivotList = [4]
[of (‘o 8 (‘° eo (of C (o] ~ O C C
6$2000039§: 8 MCOPO3 @@@0@ sacrgme@)g more coM COPREWIII

array = [4,7,8,1,6,3,2]

pivot = 4
less = []
more = [7,8]

pivotList = [4]

N

c_c¢c ¢ c (e N c c c c c c
G§')(D(I)®S§S &)(D[‘_.]SOQ’)SG(I)’O) 1 (DJG')@(DUJODII 4 (lj')BGUJ’OJ CQOOO0WOII 3.’16@')(0) less

o

N C C
G)EJQ’) oogooooll
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array = [4,7,8,1,6,3,2]

pivot = 4
less = [1]
more = [7,8]

pivotList = [4]

Draft version 1.1

c _c¢c ¢ c c N c c e c c N c c
eg?')mooo)&?zejsoeoo? 6 @@CDOOII 4 QJ’.)BCDOOII [_93&3 320000 more OOQJJ) (I)@O’J(.DII

o3

array = [4,7,8,1,6,3,2]
pivot = 4

less = [1]

more = [7,8,6]
pivotList = [4]

c _c ¢ o (e c . c c N c c
&?’)00030)3:%80%8[92603? OO0 3 oo pivot com COO607) less G)QJ:‘O G)@U)OOII

array = [4,7,8,1,6,3,2]
pivot = 4

less = [1,3]

more = [7,8,6]

pivotList = [4]
[ [ C C . [of C oc C
6$2MD0003§s 2 MO PO Pivot CONDCLOEON) less €2 200500 WII

array = [4,7,8,1,6,3,2]
pivot = 4

less = [1,3,2]

more = [7,8,6]
pivotList = [4]

[% C

33 SD§C (R|§600D0) array Q 9 §[gi pivot § cpomi cudomi [pJ:om sB[Geeon gulod

C C C

c o c . c (e e 0 0 c . o
OOl CUOJO I array OCL)C\)@S recursive C\?o[g:eoo? (00]0]»} @C\?O)ODII pivot value 1 O? (OO}

[
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@"eoao [1,3,2] O é@° DOAO00LOI 68700302 array 32983 00090 M§2000 3200
° s b Lo’ Tt L° Y '§° LOC[IJ%@
. C O [o] C

recusrive 00Q C\?o']oooon
~ O c O ¢C [of (o] o .
3200 OOCVMEC E§IMD:

array = [4,7,8,1,6,3,2]

pivot = 4

less = [1,2,3]

more = [6,7,8]

pivotList = [4]

o

oo c c ) . . 0 c (e .
&?[92 @ODOD’)SGODII 333338'] Iess+p|votL|st+more SCL)CYOJ array Q ? GO’]CS[(_.’S c0) sorting
o) coc )

C? OD%CLﬂEyI

-8

def quickSort(arr):

less = []
pivotList = []
more = []

if len(arr) <= 1:
return arr
else:
pivot = arr[0]
for i in arr:
if i < pivot:
less.append(i)
elif i > pivot:
more.append (i)

else:
pivotList.append(i)
less = quickSort(less)
more = quickSort(more)

return less + pivotList + more

gs = [417181 1161312]
print(quickSort(qgs))
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c )
OOOJDU']II 3

~Oo

3']0’360’.70) (QJ%GU)’S SBC\"))QSODGO’.D 6]62 [>) 3’30’%68 &%61660)? memory

G§6T.) 3’3&:”’)8@3 ()\IDLOI]O’.)OSII

I—C°

ooeoecjgoo quick sort Q©MeoR
array = [4,7,8,1,6,3,2]

o O C C cC O . C 2] . o(e . [N
&3[98 G]GODII 08]?603)0’3 pivot ooqo']eoau BSGO’J’) left , rlght &3[98 index 6coDM©® G]Or]
L 1 [ IL ° L o 1

C ) . [ c c
oIl left MeoN) 3'3030’)8<§ Q)[(_.]SGUJ’OJ rlght Meo G?’)O’J’&L)ﬁ 3?8'?3(7.)6(73? ODOf]GODII

pivot = 6
left = 0
right = 6

e ¢ . c c c ¢ c _c c c ¢ o o
bgq_C array[left] 0D pivot COOD COO0QDD: POVWIII C()Dq_C G?’)(TJ (7)0)8-?80?860{1" @8033
o) c o) c . . () oo c c
0? GGU&Q@CS Gﬂon.BSQg)g()r]@LDII I’Ight Me0x) pivot oooo[_gzoocooz &?[98 OO)()']G()DII
c c o o c . N o} oc c c
CQO02O BGOQOQ@CS Gﬂo()? O?SC\')’)OI]QODII C|UIC|( sort 610 3200 S’B(L)CSO’JGO’IO) (TJODO’JOO?D

. c c c (e c . () c c
plvot 000D COO0M @ODE.]SGOJ? 833)00?’380)? pivot G)OO@SCD@ value GO(.? @(DG]_O’]G

I

QI
pivot = 6
left =1#7 > 6
right = 6

C ~ . c o Ny C 1] C o c € 0O (e . [}
323 left 3254:$ right 355:0 ad0ledn [93610 left o) mo)sq?:o?::@sem? right 0360

c ¢ c c
OJ(DSL?S CDOGQ{I?O’]GLDII

array = [4,2,8,1,6,3,7]
6

pivot
left = 2
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right = 5

9. C c ¢ ¢ c oC 0 ~ O lef iah o) c . c o
E.]oGIC 3’30)0’.)G§ @c?ODODGODII C)’JQ)SBQJ§OOQD &?60.')? ert oo right (T? G(QPOQ’JOOOP_IQ 3200

ol

array [4,2,8,1,6,3,7]
pivot 6

left =2 #8 > 6

right =5 # 3 < 6

C [e) Cc (of C (=] N C (o) (of C [o] . [o] C
323 QDO value gaXeelelolTealOu] [9260’3? Qo0 left 0D 0003§:03ll right M 0003

L
c
§SGC\1|?II

array = [4,2,3,1,6,8,7]

pivot = 6
left = 3
right = 4

c ¢c ¢
S'BOO’JGéF B@O@GODII

array = [4,2,3,1,6,8,7]
pivot = 6
left = 4
right = 4

left & righ .[e N c slfo ccooo.h
33? e t§°r|g tqalog)‘,[gu G§6TDL\)GOGO~;) 3’3?84?6{)(7) 6-?6{)()" e t(? 0’3038«?00?0" right

o) c_ ¢ ¢
0? OJ®S§QGDOGC\'.]J?II

array = [4,2,3,1,6,8,7]
pivot = 6

left =5

right = 3
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. C (2} (=] [o] [of . Y C C . C C
323 left oo right oom[?_q‘;og):[gu é]a?slc pivot §, 92003000 M pivot value cono cooom

c (e c c(-e
Gdg @(DE.FGOJ? @CD(D(DGUJ? O%CD(TJ[_BSOJDGOQO’]II

0903§ége@)616 partion |3 @‘50833@" pivot 61 left , right GOT(J—D ﬁooé@g J? ?C\%Og
@"eooo 000§0lewdl 3298: 0 MDes right Adm o3l left e @%;ooo array 329§:
=607 9 §: Y Opes g : § (gE€02 array 3094:

c o c
()Oéfd) m (I)(DSO’]II
L L

[4'2’3’1]
[8,7]
[o] C cC O 2} o (’9090 o "] C
D 0P[$60220) 3O BV @‘?b 0@ c0loowoI

M1$600 pseudo code so: O @ 5§63NCII
oJ‘? o pseu Y @q

function quicksort(array)
if length(array) > 1

pivot := select any element of array
left := first index of array
right := last index of array

while left <= right
while array[left] < pivot && left < lenght of array
left = left + 1
while array[right] > pivot && right >= 0
right := right - 1
if left < right
swap array[left] with array[right]
left = left + 1
right = right - 1
else if left == right
left = left + 1
quicksort(array from first index to right)
quicksort(array from left to last index)

https://blog.saturngod.net 173


https://blog.saturngod.net

Programming Basic (Saturngod)

3 pseudo emso% S'ae@é@:em? python code @%sqg@éqeméu

from random import randint
def quickSort(array):
if len(array) <= 1:
return array
room = randint(0@,len(array) - 1)

pivot = arrayl[rooml]

left = 0
right = len(array) - 1

while left <= right:

while left < len(array) and array[left] < pivot:

left += 1

while right >= @ and arrayl[right] > pivot:
right -= 1

if left < right:
temp = arrayl[left]
array[left] = array[right]
arrayl[right] = temp
left += 1
right =1

elif left == right:
left += 1

leftSort = quickSort(array[0:right+1])
rightSort = quickSort(array[left:len(array)])
return leftSort+rightSort

array = [4,2,3,1,6,8,7]
print(quickSort(array))

from random import randint

o) o) o) c
S?OJD(DGOJOD random number (T? generate C\?O(OS’BUQOOO’]II
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room = randint (0, len(array) - 1)
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6a0000000:0l00001 HTML code example 600D 632D em[goo:)zo']oooou

<htm1l>
<head>
<meta charset="UTF-8" />
<title>Simple</title>
</head>
<body>
<h1>Simple Website</hl1>
<ul>
<li>List item one</li>
<li>List item two</1li>
</ul>
<h2><a href="https://www.comquas.com">COMQUAS</a></h2>
</body>
</html>
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o
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class BinaryTree:
def _ init_ (self,root):
self.key = root
self.left_child = None
self.right_child = None
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class BinaryTree:
def init_ (self,root):
self.key = root
self.left_child = None
self.right_child = None

def insert_left(self,new_node):
if self.left_child == None:
self.left_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.left_child = self.left_child
self.left_child = t

def insert_right(self,new_node):
if self.right_child == None:
self.right_child = BinaryTree(new_node)
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else:
t = BinaryTree(new_node)
t.right_child = self.right_child
self.right_child = t

~ [

c (e o} c . o
3209 G)O[SSGUD 6]&3@ left, rlght D aD0O00O
L ° 1 o L O 1L

G0

c
GGPG]_GSZ)CII

class BinaryTree:
def __init_ (self, root):
self.key = root
self.left_child = None
self.right_child = None

def insert_left(self,new_node):
if self.left_child == None:
self.left_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.left_child = self.left_child
self.left_child = t

def insert_right(self,new_node):
if self.right_child == None:
self.right_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.right_child = self.right_child
self.right_child = t

def get_right_child(self):
return self.right_child

def get_left_child(self):
return self.left_child

def set_root_val(self,obj):
self.key = obj

def get_root_val(self):
return self.key

N

oc C C 8 s C N C [of C
329 3?%]?8’)60’3’) code 600:600MM 93MD3MNIVVIOO0 @8@8 CO’]O’J(.DII
L 1 ° o L °
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class BinaryTree:

def __repr__(self):
return "Binary Tree, Key 1is

+ self.key

def init_ (self, root):
self.key = root
self.left_child = None
self.right_child = None

def insert_left(self,new_node):
if self.left_child == None:
self.left_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.left_child = self.left_child
self.left_child = t

def insert_right(self,new_node):
if self.right_child == None:
self.right_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.right_child = self.right_child
self.right_child = t

def get_right_child(self):
return self.right_child

def get_left_child(self):
return self.left_child

def set_root_val(self,obj):
self.key = obj

def get_root_val(self):
return self.key

def postorder(self):
if self != None:
if self.get_left_child() != None:
self.get_left_child().postorder()
if self.get_right_child() != None:
self.get_right_child().postorder()
print(self.get_root_val())
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from binarytree import BinaryTree
root = BinaryTree('a")
print(root)

print(root.get_root_val())
print(root.get_left_child())

root.insert_left('b")
print(root.get_left_child().get_root_val())

root.insert_right('c")
print(root.get_right_child().get_root_val())

root.get_right_child().set_root_val('hello")
print(root.get_right_child().get_root_val())

root.insert_left('d"')
print(root.get_left_child())
print(root.get_left_child().get_left_child().get_root_val())

Y

)
GBSEJJ)

def  repr_ (self):
return "Binary Tree, Key is " + self.key

o) o) oc ¢ N c c o . o) . N c
S?O’.T)GC\'JS(Y.B eorgﬂmgewu S'BC;I(TJGUD’? (T&WGOJ)O% obJect (Y.B print <§ 00]esloV)

o L o,
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<__main__.BinaryTree object at 0x10293b5f8> sz%[g eequjf:O key o) OOOS@G”&OD

L L

c c c o c . c f]
@ 3308(736@’)9 __repr__ SCL)OO@ function EJJ) OCGG]_S(IDSOJDO Il

root.insert left('d")
print(root.get left child())
print(root.get left child().get left child().get root val())
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from binarytree import BinaryTree
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from stack import Stack

def build_parse_tree(fp_exp):
fp_list = fp_exp.split()
p_stack = Stack()
e_tree = BinaryTree('")
p_stack.push(e_tree)
current_tree = e_tree
for i in fp_list:

if i=='(":
current_tree.insert_left('")
p_stack.push(current_tree)
current_tree = current_tree.get_left_child()
elif i not in ['+', '=', 'x', '/', ")']l:
current_tree.set_root_val(int(i))
parent = p_stack.pop()
current_tree = parent
elif 1 in ['+", '=', 'x', '/'l:
current_tree.set_root_val(i)
current_tree.insert_right('")
p_stack.push(current_tree)
current_tree = current_tree.get_right_child()
elif 1 == ")"':
current_tree = p_stack.pop()
else:
raise ValueError
return e_tree

pt = build_parse_tree("( ( 9 +4 ) x (6 -2 ) )")

pt.postorder()
[of c O . N o o o ocC C N
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def inorder(self):
if self != None:
if self.get_left_child() != None:
self.get_left_child().inorder()

print(self.get_root_val())

if self.get_right_child() != None:
self.get_right_child().inorder
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def preorder(self):
if self != None:
print(self.get_root_val())

if self.get_left_child() '= None:
self.get_left_child().preorder()

if self.get_right_child() != None:
self.get_right_child().preorder()

C o N o cC o0 ¢ ’] C 2} [} "I C cre
32§ C3ps node g, value 0D OOVl @zeﬁ left 0 ogosoloowo left 330?.:?@339

L
. [o} o ocC C
right 03 032200003 600159 W
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def postorder(self):
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if self != None:
if self.get_left_child() != None:
self.get_left_child().postorder()

if self.get_right_child() != None:
self.get_right_child().postorder()

print(self.get_root_val())

309 &% 660.')’.) m CU)SU%GU) binary Tree ODOSS C\D')° ('73 OD'J°U)U(:)€ OI]LLQJII
e Lq_ 3 <ﬂ§ 0 Y I 1> L 0°° §

d .9 c c
code GC\)OO? @QQGSB’DCII

class BinaryTree:

def __repr__(self):
return "Binary Tree, Key is

+ self.key

def __init_ (self, root):
self.key = root
self.left_child = None
self.right_child = None

def insert_left(self,new_node):
if self.left_child == None:
self.left_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.left_child = self.left_child
self.left_child = t

def insert_right(self,new_node):
if self.right_child == None:
self.right_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.right_child = self.right_child
self.right_child = t

def get_right_child(self):
return self.right_child

def get_left_child(self):
return self.left_child

def set_root_val(self,obj):
self.key = obj
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def get_root_val(self):
return self.key

def inorder(self):
if self != None:
if self.get_left_child() != None:
self.get_left_child().inorder()
print(self.get_root_val())

if self.get_right_child() != None:
self.get_right_child().inorder()

def postorder(self):
if self != None:
if self.get_left_child() != None:
self.get_left_child().postorder()

if self.get_right_child() != None:
self.get_right_child().postorder()

print(self.get_root_val())
def preorder(self):
if self != None:

print(self.get_root_val())

if self.get_left_child() != None:
self.get_left_child().preorder()

if self.get_right_child() != None:
self.get_right_child().preorder()

root = BinaryTree("A")

root.insert_left("B")
root.insert_right("C")

b = root.get_left_child()

b.insert_left("D")
b.insert_right("E")

d = b.get_left_child()
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d.insert_left("F")
d.insert_right("G")

print("-——— In Order ———-")
root.inorder()

print("--—— Pre Order ———-")
root.preorder()

print("--—- Post Order ———-")
root.postorder()
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Pseudo code § opzans[gpdgesmdCypll

current level = [Root A]

Loop Until current level is not empty

[1 //create empty array for saving
[1 //to store current level value

next level
level data

For node in current level
level data.append(node.value)

if node.left child is not empty
next level.append(node.left child)

if node.right child is not empty
next level.append(node.right child)
End For Loop
Print level data

current_level = next_level // start again for child data

End Loop

o] o

333lec0600060M o°°m°@° 662300022005 pseudo code 600l LooLEd: KBODS

o O o 80 o o G]_Dql o @ p o LO LD
C =] [ [of . o \ C C
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class BinaryTree:
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def __repr__(self):
return "Binary Tree, Key is " + self.key

def  init_ (self,root):
self.key = root
self.left_child = None
self.right_child = None

def insert_left(self,new_node):
if self.left_child == None:
self.left_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.left_child = self.left_child
self.left_child = t

def insert_right(self,new_node):
if self.right_child == None:
self.right_child = BinaryTree(new_node)
else:
t = BinaryTree(new_node)
t.right_child = self.right_child
self.right_child = t

def get_right_child(self):
return self.right_child

def get_left_child(self):
return self.left_child

def set_root_val(self,obj):
self.key = obj

def get_root_val(self):
return self.key

def bfs(self):
thislevel = [self]
while thislevel:
nextlevel = []
level = []
for n in thislevel:
level.append(n.get_root_val())
if n.get_left_child() != None:
nextlevel.append(n.get_left_child())
if n.get_right_child() != None:
nextlevel.append(n.get_right_child())

print(",".join(level))
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thislevel = nextlevel

root = BinaryTree("A")

root.insert_left("B")
root.insert_right("C")

b = root.get_left_child()

b.insert_left("D")
b.insert_right("E")

d = b.get_left_child()

d.insert_left("F")
d.insert_right("G")

root.bfs()

3200000] code & print(",".join(level)) at%oaéefo array 320: string 3'ae§[§c:: @eﬁ 320Q
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c ° oc c c
GBCD(TJOI] 0320)Cs code 6003 6618@80']603"
I- L ()

class Node:
def __init_ (self,value):
self.value = value
self.child = []

def _ repr__(self):
return "Value is " + self.value

def insert_child(self,node):
self.child.append(node)

def get_child(self):
return self.child

root = Node("A")

b = Node("B")
c = Node("(C")
d = Node("D")

root.insert_child(b)
root.insert_child(c)
root.insert_child(d)

Node("E")
Node ("F")
Node ("G")

-+ O
1l

b.insert_child(e)
.insert_child(f)
b.insert_child(qg)

(o

Node ("H")
Node ("I")

B
I

c.insert_child(h)
c.insert_child(i)
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j = Node("J")

d.insert_child(j)

print(root.value)

print(root.child)
print(root.child[0].value)
print(root.child[0].child[0].value)

o

. (of . C C . ofe 0 C C .
child 60Q 32M$CVM list @oaoa 320M root.child[0].value ecg[qs eerr‘%co']oooau list

8" [:8')

C [of C . [o] [of (o} . (o} o ocC (o
@o)oo 320M child 326320000 0J|CECE0R) len(root.child) @g 3309:[9[§001mw||

(o) o C C
323 BFS e2 33&?8@[@&361633’)0"

class Node:
def __init_ (self,value):
self.value = value
self.child = []

def _ _repr__(self):
return "Value is " + self.value

def insert_child(self,node):
self.child.append(node)

def get_child(self):
return self.child

def bfs(self):
thislevel = [self]
while thislevel:
nextlevel = []
level = []
for n in thislevel:
level.append(n.value)
if len(n.child) > 0:
nextlevel = nextlevel + n.child

if len(level) > 0 :
print(",".join(level))

thislevel = nextlevel
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root = Node("A")

Node("B")
Node('C")
Node("D")

o N T
1l

root.insert_child(b)
root.insert_child(c)
root.insert_child(d)

Node("E")
Node("F")
Node("G")

-+ O
1

b.insert_child(e)
b.insert_child(f)
b.insert_child(g)

Node("H")
Node("I")

[
I

c.insert_child(h)
c.insert_child(i)

j = Node("J")
d.insert_child(j)
root.bfs()

(o] . C C (% [o] . C
Node 630D child eogoo array @o)oo 3200 nextlevel array 28, child §C merge

o o
co o c
(Xl?()(g (.\?O (0p]00]]

nextlevel = nextlevel + n.child

o [of C C O (e o ocC
python &> array | 20D merge cQU{|CECEO) Mmerge = array + array 39[93 3'3:1?::[9[%0
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ogjc%emgc%oeogm n integer gpzel 601Cz(Gs 0pd qrosedlen ¢
ool
def sum_of_n(n):

the_sum = 0

for i in range(1,n+1):

the_sum = the_sum + i
return the_sum

print(sum_of_n(10))
[e) C C o Cc (of (2] (of [o] C
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import time

def sum_of_n(n):
start = time.time()
the_sum = 0
for i in range(1,n+1):
the_sum = the_sum + 1
end = time.time()
return the_sum,end-start

for i in range(5):
print("Sum is %d , %.7f seconds" % sum_of_n(100000))

oC

c o) c
B?CDO’JO,] code ?’) qul (T.E 08 3’308(73

'360

import time
o (e [of [of
83[98 OO@GDS(;]O)OOII
L [
return the_sum,end-start
@SGCD? sum 61(\)53 <J§(§ @’Jq])‘% 0’% return [9%(1)’.)86080’]0)05"

for i in range(5):
print("Sum is %d , %.7f seconds" % sum_of_n(100000))
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1 +2+3+4+..... + n
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c c c o c \ c oMc c
3’16@’)9 (TCJLWGCD’DO% 02D program Ioop 0000600 633’)00(7)(.\? @CGG]_SO’]GOOII

import time

def sum_of_n(n):
start = time.time()
the_sum = n *x (n+1) / 2
end = time.time()
return the_sum,end-start

for i in range(5):
print("Sum is %d , %.7f seconds" % sum_of_n(100000))
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import time

def sum_of_n_loop(n):
the_sum = 0
for i in range(1,n+1):
the_sum = the_sum + i

return the_sum

def sum_of_n_eq(n):
return n x (n+l) / 2

start = time.time()

for i in range(100000,100100):
sum_of_n_loop(i)

end = time.time()

print("Time is %.7f second" % (end-start))

start = time.time()

for i in range(100000,100500):
sum_of_n_eq(i)

end = time.time()

print("Time is %.7f second" % (end-start))
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looping e GloCwesulonsi processing 03 m&e@o&oo 5:5C 3200000001000l

o $OIOR? g0 SORESE L1
Logarithmic

o cCoC (e [ C . o [of % % C
array o ooooocfcg@z loop Slesietley) algorithm Zleales) log(n) $C oooo?ooo']oooou QU

binary search Ol

while (n > 1):
n=n}//2

Linear
Loopin 00020005:0lCeom linear ol
g coopoopazolqCen:

for i in range(len(array)):
print(i)

sqq])lzw) O(n) @o%@zewg linear @ogofloo(fm
Log Linear

. . O O . C
log linear o merge sort, quick sort QVq][s sorting 600 eogoelo']eoon
Quadratic

. C (o
3’]006009 looping J @0 saogooo']u

for i in range(len(array)):
for k in range(len(array)):
print(k)
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ooping J a0 MPecRLM O(nA2) $C 0RPSVICOWI

Cubic
. C [o]
:ﬂmecn? looping Q 0 mqgeogeo’lu

for i in range(len(array)):
for k in range(len(array)):
for w in range(len(array)):
print(i+k+w)

Exponential

[

C [o] ocC C
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Big-O Notiation 03 90508 0p056cd
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1. Diffrent steps get added

C . (=] C % ~ % . [o] % C
330000@ algorithm &2 0000 3280¢60R VlaMPEC Big O M eo’]ogeogqo']oooou

doStepl() #0(a)
doStep2() #0(b)

3’55]8(%616 O(a+b) @050']0305"
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2. Drop constanst

def minmaxl(array):
min = 0
max = 0
for k in array:
min = MIN(k,min)
for k in array:
max = MAX(k,max)
def minmax2(array):
min = @
max = 0
for k in array:
min = MIN(k,min)
max = MAX(k,max)

2} . o c o ¢ ¢ . C o o oo
3 function j 30D VLYPAVMEC VoL function VD O(n+n) $¢ 3030L0ME02 O(n) Y VS

¢olonudi O(n+n) = 0(2n) [§o0lodwdI 8360603 Big O Nototation 005000 325160

co (o] C \ (o (of o [o IRN C
constant 00§6:60907 @lo:)qﬁqo']oooou 3’]6@39 program | 909200 O(n) 90 2000y

c c
OJOr]OC)(DII

3. Different Input, different variable

for ¢ in arrayl:
for h in array2:
X=x+1
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<] o] ¢ o ¢ C (o] (% C . [o] [
3 code 6oOsM @emch array §906000 0020200l looping J3pson nA 2 @03
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c O C (% C C [of % \ . C Go
©UOCYCOCOEP @o)o']oooou 02MULO0D$260) O(a*b) dli a me0od) arrayl §), size @o[(_.jo b
~ . C . ~ [of C [of
DE0) array?2 §), size ol 330000@ variable 09§ Cc6e0) N A 2 @@o']eooll
for ¢ in arrayl:

for h in arrayl:
X =x+1

e o ¢ . \ . () . 0 - c c o oc
3 code SZL)G]_C Iooplng 610 variable %O’]O’J(DII 3 array Size 0?() J (00]0) O(I)GlO’.)’)(IL) GQ&%C

olooddi 3’]6@'){: (n*n) @&wésacg(ﬁe@){:: O(nA2) E‘qo%o’]cmf)u

4. Drop non-dominate terms

c c c .\ C co C _0nx c
3?(73()3@ n 6(78()’3'.) (I)O)? QMM O’]QG]_C O’J:?(E)S UJQ)?O?O ()\RO’]UJ(DII 80&9’)"

min = 0
for ¢ in arrayl:
min = MIN(c,min)

for ¢ in arrayl:
for h in arrayl:
print(c,h)

§ code &> 0w loop m O(n) @030'10')()5" :Lao%oo loop me0p O(nA2) @oc)o']ooosu 8c0m)
J 960lE:60m O(n+nA2) gulooud
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omo]?of]m(ﬁu sf]e@ac:: program 61 Big O Notation o2 O(nA2) @f»o oWl

Array Sorting Algorithm
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(% C O (e ~ [ (o] . C N C . .
02|$60200 [92@0@ 329836070 array m sorting C\?()@o']oooau Array sorting Big O

. o c oc c
Notation (Y? 63’3')0’.)0'] CS()D’JSQJQ’) GOg)&LCO’]U)ODII

Name Big O Notation

Bubble Sort O(n"2)

Selection Sort O(n"2)

Insertion Sort O(n*2)

Shell Sort O(n*log(n)) 20p5 3a60m0¢E:30: q&Ee(3[yd[G: O(n A

1.25) 20p5 @5%5@@%@&% Q|e:6) 0050 @60;)&%

Merge Sort O(n log(n))

Quick Sort O(n log(n))

N

33 sorting algorithm 323,03 Big O

o

Bubble Sort

Bubble sort algorithm o3 [g$[0gpdgezaoci

def bubble_sort(array):
for num in range(len(array) - 1,0,-1):
for i in range(num):
if array[i]l > array[i+1]:

temp = arrayl[i]
arrayl[i] = array[i+1]
array[i+1] = temp

return array

o ocC [of [of C C o o
Bubble sort oo array 0D V0L sa@eefo array 32983 0009 60qRVOD0OWII B3OOWO 39[_9

c c c C o [ c o c c c c
o J ?GC\II?OOJCDOOII G?’JOO&?% 0 GGP(DOD&:Z 3200 |OO|3 00DO0LOII 03?@86@')61610

(n-1) + (n-2) + ... +1+0

https://blog.saturngod.net 217


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1
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Merge Sort

e}

Merge sort o» 33@)3 sorting algorithm eogooorS 8@%0’]0’)&)" ovlos O(nlogn) @éoa

o,

—

C [

%og&e@)édlu Merge sort algorithm or% @%@@ §e3aCll

def merge(left, right):
result = []
left_idx, right_idx =0, 0
while left_idx < len(left) and right_idx < len(right):

if left[left_idx] <= right[right_idx]:
result.append(left[left_idx])
left_idx += 1

else:
result.append(right[right_idx])
right_idx += 1

if left_idx < len(left):
result.extend(left[left_idx:])
if right_idx < len(right):
result.extend(right[right_idx:])
return result

def mergesort(w):

if len(w)<2:
return w
else:
mid=len(w)//2
return merge(mergesort(w[:mid]), mergesort(w[mid:]))
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Match

% . o % \ (O o (o C
3200000l regular expression ™ python s¢ orgbz %Q?z@l@gcﬂeoou

import re

telenor = re.compile("(\+7951079)7(91817)\{7}$")

if telenor.match("09791234567") == None :
print("Not telenor")

else:

print("telenor")

if telenor.match("09971234567") == None :
print("Not telenor")
else:

print("telenor")
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import re

boldregex = re.compile(".*<b>(.*)</b>."")
text = "Hello <b>World</b>"
match = boldregex.match(text)

print(match)
pattern (?6’)05:) ecpm@éqem&u
R<b>(L*)</b>. %

o C o C cocfre o C o C
C\B,GGFOJDSC{IDSOI]OJOOII ©220233200 [_glooooo @@%C@SGO’J? celcsHealavlent: @looooo
coc C [ ° [o} N C o .
@omg:d]oooou <b> sc </b> @)zepeoog ®Q3M group (gooo:)go']oowu match o print

c c c . o c oc c
(IL)O’J@@OD O 3?8’]?')6(7.)? match obJect 0? O?O’J@(YJ’J GO’géCOf]O’J(DII

< sre.SRE Match object; span=(0, 18), match='Hello <b>World</
b>'>

c c o . ) S c R c c
(QJ?GCD’DOJ 329 match ObJeCt ('DG§ Bg group LOOCDSODE (ualavi{es] &)CDCDO’]G(DII
Lo L Oe o L L o 1L
\ (G o ¢ o) c ° c o o0 c o
Group (0&)’)8038 08’361 &361060.7) World &3&38 OOQ0: GLO’)@G()SLO C\)U']O’J()DII 0003
Oe S L L ° L o L [CIE L

c c o c c c
match @(DOD& group (II? (IBO’J tBG]_GS’B’JCII

print(match.group(0))
print(match.group(1))

Hello <b>World</b>
World

oo c c
8?[(]3 GE))OOC\I)O’]GOOII

https://blog.saturngod.net 224


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

findall

c c o C o o c ° c o O c
match oo (Y&Ic?GO’.DO’.L%GO’g 3’3@@8’?? 3’30’)3’30’_1] ??QJQOJ’) 3’3&?8@[0’]0)03” 6.)’)(.\?20’.'_) ﬂDQJC

C C cC O . [o} o ocC C
§ce0x M|$6000060 findall 0 330\?3@[‘%00 (eal8W]]

import re

boldregex = re.compile("<b>(.*)</b>")
text = "Hello <b>World</b>"
match = boldregex.findall(text)

print(match)

(o o [of o (e [of C [of cC O
320000 code €2 30 C result oo World e?bz array return Eﬁcﬂewn MQ|§6000 text

o8 50555055 O[GE[G: 08:[p3p5ClenS
import re

boldregex = re.compile("<b>(.*)</b>")
text = "Hello <b>World</b>! This is <b>bold</b>"
match = boldregex.findall(text)

print(match)

o] [%

30§60 result m

[ 'World</b>! This is <b>bold']

O (e (o C N =] [* [ C [ [ o c C
ED[S: @@G%mwll <b> § CDBS </b> 80610 @@Q’) 3300006@)0 32900 [9:%6-%0.‘]0)@"
L o L o ° L L

o

. o Mcme c
regular expression pattern (T.L) @§[§CO']QOOII
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import re

boldregex = re.compile("<b>(.*?)</b>")
text = "Hello <b>World</b>! This is <b>bold</b>"
match = boldregex.findall(text)

print(match)

o ¢

08C result oo

['World', 'bold']

ogﬁemgo% cx%qﬁ:oo 5 s'ae@elo'][?jn code & .* 3oz .*2 A @6(\%0’36]0)0% *2.00 320D
L 1 Lo L L

o,

o]

° [o] C C C

o c o c c
C\?SO? match C\?OGQ)II CDLDSB(I)C\)@Z SCL)GO’J’OD 3’36:?’300(73 < /b> QOI]C\D')GODSCD@

[¢] o O O C . _O C C o [ C [o] [
3200 QO ’c'DC\?()f](I)OOII &)610 G:?’)(TJEDS </b> @0)&38 S?CDO']II C;]G@)C @)86’) </b>
L L L i s 0 S

O']Oé G?O’]UJOSII

(o) [of C [o] (o (o (o (o (o) [of
32930€C match sc findall §2300p00WO 00C0lonvdI match meom 320003|9$20
L ] o L o 1
2]

o]

o,

L

gl

C C [} C - o ¢ C C
me@ocz 3200 sao?s[glo']oooon findall 0602 6LV 20DY pattern $C 0O

o c
O)’DE{PQO? ?T)GUOO']OOODII

C o C C cC O C
323 search sc replace 600 0leudn M|§600003603 Markdown meg HTML e@ocz

oaé code ec\)zeqzo']e(f)u 336163533 Markdown code or% 3a§é3005 ﬂ{:z@o’]acﬁu
Markdown Parser

[0} ° C [
Markdown spoxmne02) developer 60y HTML 32002 3200:qps00p0 format ooo)eL;o']u

Github & README.md e§[§ README file 0% markdown jscf; quoo'):o']m(f)u HTML
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com ﬂ&:méz@g ENHeealNplal @%ao.% oloood HTML (7?3 C\go&\aé oom e@)égeoz‘%&ﬂ

c
(0p]00]]

Header 320300 21361 #$oo’]0005u
|_ [

# Hl
## H2
### H3
#### H4

32000l 0 603 63200501 HTML s¢ p50lonwdn

<h1l>H1l</h1>
<h2>H2</h2>
<h3>H3</h3>
<h4>H4</h4>

**phold**

<b>bold</b>

00’)

-] (o . (of
Eyﬂoooauhahcsaogoo

_italic_
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<i>italic</i>

sC 230londi
FC 22

<pre>

<code class="js">
var k = 10;
</code>

</pre>

o C o C cC O 2] C
325 code copm Markdown &o S'aoog@loo@ code sasmo']n (R[§6000602 3OO3PVED
L [¢] 1 L o, o [ [¢] L 1
602 PUED saeﬁosa(n)%&em‘::) eeqz@é 3200000] markdown code saqj’[or% html 6[9363

008: parser eQos 6613()’]6(18"
o [¢] (of C
O(I)ea?z Header (7? GGIS@@QG%C"

C C C C % C C (e C o] C C cocC C
#H1 @@OD@ 3’30’8(736@')9 # vJ§(°3 00O space AOOLLO [(__’8610 @lmw@m@o‘%cmwu
o ¢ C [ [o] o C o] C
Sr]&)Glc <hl1>H1l</h1l> S’BG§@C G@')CSGOS(O C\)OI]OJ()DII ODCDCD’)SOD@CD’)(DGCD’)
L o lo L o, o
[o] o O o C

C co O C C C N © [
o6[ngpEs 320 M # 40§ a30lodwdn sle[oPE A 03 02 A3300lowdN T332

pattern o

~#\s (. *)
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(o €C oo
s@)czew Odmeon

<h1>\1<\h1l>

1 o 1 o <, ,] c c c._c.
\ &I?O’.)')(I)GO’.)’O) group 0? 61883?&) OooLIIl group 6(730’)6(7)’03 (\)()’JOD@JT.QCQ

[ C
ej;ooo']moau
Python code §, 6[goCseq:(mp00lewdn
import re
parser = re.compile(" #\s(.*)")
text = "# Header 1"

replacement = parser.sub("'<h1>\\1</h1>" text)

print(replacement)

[e]

o C o] (o O fe o o (o =] C
python & \ 28] em@cg 300M \\ sobz 3300::@[(3 QOOloDLoI 300M

o L L L
c c
G@')CSGG]_S@O’]GODII

~Co

© O [ o o
E_’g 3G]C§C13 oo
L1 S L

import re

text = "# Header 1"
replacement = re.sub("M\s(.*)","<h1>\\1</h1>" text)

print(replacement)

(o O CcCO ¢ (o o ocC (of (o) (of (o] ocC (o
re.sub @c ealoalalealantenk: saooz[glsco']cnwu efleoqceooo h2 mMe$ h4 co BE3SCOWO
o L L L L L ° L

oﬁ?@éo’]mo\%n

'380
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C . . (o) [of C C . . o o N [of
329 bold sc italic ™ eqz@@qesmcu bold s¢ italic m 0® 3200000101 m@ogqjmm
L ] o L [ ] o L IL IL o

"

N

" c c c C ) c (o ¢ c

GO’)’OJ . ?(03 _0 (Yg)O’]O’JODII pattern (09 C\)@S SDCO']O’J(DII T Q0D [93610 [_9[0000&3
. coc ) Cun _C (O c [} c s c c( o
strlng @@%COOLDII [98(\3JC tJ§C°3 BSGOOII ODO)CD’)K)D(}O’J)OOGCD? C\)’)OD@ jS(E [98({?’

o c
C\?U']O’JODII

Bold 330905
NENK (L F?) RN K

. (o8
Italic 320M

(.*7)

R
Bold 320QM code m
import re

text = "This is **bold**. This is another **bold again**."
replacement = re.sub("\*\*(.*?)\"\"","<b>\\1</b>" text)

print(replacement)

. C
Italic 320M code m

import re
text = "This is _italic_. This is another _italic again_."
replacement = re.sub("_(.*?)_","<i>\\1</i>" text)

print(replacement)
C [of C C ocC C [o} [o]
329 323lwD60M regex m $230000 2000 323leD AQVOCOE COM 6§:SCOD0LO DONM
L 1 ° ° 1 o o L L L
[¢] [o] oc C
oaoo[gleo']coeewu

o
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C o o d (% o C [ d INEENERN [ C Go C |
6$200303 code 320 eqo[ﬁgqesaocn code m $CO0OWII [Bocgjc anguage

c c c c () c c (e c c c
(0p]00]] U)@G@)CS&)CSO’)ODII [98(.\3JC code GUg [avaleslon]| [98(%1]0 (I)Q)G@')CS

-0
|—80
3~

% [of RN C \ O [of C C
S0C300WIl 6§OM|Gs Q200N 323 32000 pattern emoeqo@@qezaocu
U GH) AN ) (\n)
[of
Replace 320900 pattern me0

<pre><code class="\1">\2\3\4</code></pre>

323 python code §org@ ®ézeqz@éqezao{:u

import re
text — (LR NN B ‘J'S
var k = 10;

Ny

replacement = re.sub(" " (.x)(\n)+(.x)(\n)+ """, "<pre><code
class=\"\\1\">\\2\\3\\4</code></pre>", text)
print(replacement)

oo ¢ ¢ \ c c o c oc
code so:m GI]SGL]SﬂCSﬂCSO']OII (YG)JI?GU)’)O% SBGOT?) GE\POO’)SOO@ C{BO?CS regular

. C C
expresison s¢ search and repalce c\?oogo:mo']u
(o] [of . (o] [of [of ofe O (of (o
329306 CE0M) regular expression 0D 32§03CLO oo[gcx% 0 COlonvdI reguler
. . C C . . . . .
expression 0 email eogoo)esoz@c: 33@')3 number validation , string validation

c c o C c
®CD’DGC78 3308(7) C\)eg 330?8000’]03()3"

c c o o c c
3’3? G(.\;)O’%J(OIS%S 3’3%“90? 661803')3@&2616(5?')0"
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ecgoqjc::e%: 99-2

"

oc ¢ c . c c c
ol OODSQ?C(DC OOE630:20 0 regular expression OJ(D? 661803380’“ A-Z ‘J§C°Z @Il / AO0O

Qo1 om%z 9 C\‘?zo']eugu / oleodi 0cm$z J C\"?go']eugu RUe> B/11111/16 L‘l)o")o']u

oo O . C [ ofe
003 regular expression ¢ eqo[@@qezaocu @mgmg ece[(_.]o 6q:

o,

Ji mention esTooé
ooozooé meogo% html saeﬁo @%G@)&O’]Q&)M <a href="/username/

mgmg">@mgmg</a> et%[(_?j eco%@eogo']eéu

C C C N o] (o
oll markdown oo code mo:e@oczs*acrgm code here 08¢ <code>code here</

O(e (of [of
code> a?[gse@)cgo']oowu
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[-]
£6:
L
C cC O

o [of . o o (o4 (of
3233D§CE07) MR|§60700)603 programming C{BG@S Q06IDOIEPIND $ITCOPOSAIDM
(2] C . (o] o (o o C
o’][gu 323 ©D3p0ED programming 0D ®6QQY 3200 336@3 oulZiealeslNpiiericeletons)
o ’] (of C (of C (of (of [of (of C (e
§oleasoowoll Programmer oco®e0DMm @@qjcqceoo? 6$200000 ooo[qzec;o? =lavlaval)
=] [of (o4 (o] C
Nelcles 3%“33[_93 oqﬁo']eoozoooou e@o:eeq? 60NV CoMeoNMeo HTML, CSS,
o o o (e} °
. C o C o (O o] [o] C C
Javascript s¢ Database , UML 00260 oooe@zeosg clevleval(] C\?s*aoeoozo']oooou

c c . o ° o ¢
3’3? 0)’.)3?00)’) CD(DSI](J-) programming QGC\QC\I)(IKL)gOi?GOgOCL) 336@8 ODGCD’JCDGPS 00030

(o C C (o [of (o C (o] (o} (o ocC cC O C
D3230C0 @o)eoeoo 6520000 F2EDCE0R0) §I2C0POCQUOMED EAPANDEECHLORS 69
o ° o (o] L (o) ILO o L o
(of C
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GCOM|¢o$: PG B[Y
eem§$zou
6300l program @ k 61 value m m@ogo']oacﬁu

i=7+3
k=i+2

3’36@({)

A7
B. 10
C. 12

C.12

c
GGS§§S JII

U.)QSGOD’)(TSS’ﬁ 6930020 5 §QS()% C\')()’Sé()’]ll OSG (TS (020])] OO& (5} (YSOG Q0 5 3’30006
8581 $O07 2P J 8C SPPRCE PR

GLO’S[QO’]II

3o =0

birthday = int(input("Please enter your birth year: "))
print("Your age is ", 2018 - birthday)
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eogoqﬁs%z J-9

X

y

op =

input("Enter first value : ")
input("Enter second value : ")
input("Operator (+ - x /) : ")

try :

int(x)

X
1l

int(y)

<
]

output = True

if op == "+

result = x+y

elif op == "-"
result = x-y

elif op == "x"

result = xxky

elif op == "/"
result = x/y
else :
output = False

print("Wrong Operator")

if output :

print("Result is ", result)

except ValueError:

C C C [o] ~
3200M0QC ewo@oooseooo Calculator code 28 flow chart egd]u

print("Please enter number only")

print(ValueError);
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SeomICR%: J -

c
eeo§.§o all

total = 0

for x in range(10):
total = total + x

print(total)

o o C %
program o run comec Total m

C. 45
o ro
60382 I

total = 0;

for x in range(10):
total = total + 1

print(total)

o o C (%
program o) run co§C Total m
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B. 10

c
GGS§§S ?II

range(5) et%elé

A. O mMe§ 500
B. O Me§ 43
C. 1 M6$ 500
D. 1 M6E$ 40
B.

c
GGS§-§8 9II

. C o [ o]
While loop o 32$p0330¢ 000

(124e}

c __¢ c
GBC\?OC\?OOJOOII

>
-C
—nn

o]
S

c
GGS§§S SII

While | °. 2,0 ,] c c o o} c
e loop 3?0\?0@[('2 326310 3'36613?080’3 S’BO’JS’BCI“ ﬂﬁl@()i)ll
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B. oo3
1

c
GGO§-§Q @II

. . o) c c c o o o ¢ Co cC o ¢
Fibonacci program C\B GQTG]_GGHDCII (T&WGOUDO%GOQ user a3om §OOO QOMaWII §OOO

™m5 @03616

. . o C C C
Fibonacci sequence 326 001 § 3 o?m@eoou
11235

C s C
7 [go3qCe0m

11235813

Fib . o) o € [o} f]co o c ¢ <,
IDONacCCl sequence S?CI)'.)('DGO.')? Gﬂom c?OCD J ? ('T? 210) 00[99603? G§')(’DCDO OCCOc?o

c c
0003 61(5]03(1)"
L

n = input("Enter number: ")

n = int(n)
f=0
s =1

for 1 in range(n):
t=f
f=s
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s=1t+s

print(f,end=" ")

c
GGS?:?S (ZII

Draft version 1.1

c [ ) c Co c e ¢ )
Even/odd (D(D(I?CDUOD program O’]II user ED(TD&? OCTDn??, QOMaWOI [9861C 1 (DG:% 0)&’8

C C O (e C C
oM even @o)c\)oz odd @o)mo: e?bz o?oo@qeoou

o

o

(o) (o
goe’)useroo3C\%sL] C\? qc

1 is 0dd
2 1s Even
3 1is 0dd

1 is 0dd
2 1s Even
3 1is 0dd
4 1is Even
5 1is 0dd

-}
Il

n int(n)
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f=0
s =1
for 1 in range(l,n+1):
if 1% 2 ==
print(i,"is Even")
else:

print(i,"is 0dd")

Draft version 1.1

seQmIEaF: JR

602942 Ol
Max Number c3gjjs 32c05sd2 0ams:) §poj code eqz[mgpddl
list = [1255,2125,1050,2506,1236,1048,2010,1055]

minnumber = list[0]

for x in list:
if minnumber > x :

minnumber = x

print ("MAX number in array is",minnumber)

c
GGS§§8 JII
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list = [1,5,2,7,8,9,200,155]
print(len(list))

336E§038§

A.@

B.»

C.Q

B

c
GQZ?:?S QII

Array [3,4,1,2,9,7] efé@ %o’]ooéu user 3BM %()0500 C\)(TSé@S array 393%306609 cop,

Q0

060 user o print oooS@o’]eén 60920l 32962 2DUOEADOOED 60520003 print
Oe L L Oco I Ooo L
[of C

wos(goledn

n = input("Enter number: ")

int(n)

arr = [3,4,1,2,9,7]

n

room = 0
while room < len(arr):
if arr[room] == n:
print ("Found at ", room)
exit()
room = room + 1

print("Not found")
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c
GGS§-§8 9II

N o [¢] .

o) Co € © o c c o} o}
Max number o) GPO’]II U)OD-?OOJOO 3’3@8&)8(\)" CDQ)SBQ?%D G]O’JDC\) 30000M print |
L1 L 1 1 L

L L
o5 GOl
list = [1255,2125,1050,2506,1236,1048,2010,1055]

maxnumber = 1ist[0]
foundAt = 0
room = 0
while room < len(list):
x = list[room]
if maxnumber < x :
maxnumber = X
foundAt = room

room = room + 1

print ("MAX number in array is",maxnumber," Room is", foundAt)

SeQmIGa: J-g

o ro
ee°§§o Qll

. [o} (‘f t o ’] (‘o %, O O ¢ 90 cC O t [of o C
minus S?(IJ@ unction 6610[90 Il 0(U)<§o J Q?o (L)OC\'.L)(YJ[BO 61(.\)’)30’1) return [9.?60061@[&_‘3"

def minus(val1,val2):

return val1-val2
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print("5 - 2 =",minus(5,2))

c
668§§8 JII

[

. [ . o} ) o ¢ c 00
tnangle_star S?O? function (71) 66180']" user a0 ‘?OO’JGO’J)CS()’]II 3 C\%GI](TJG]_C

[}

. ofe o . c c o ¢ c
trlangle_star(3) &L)[(_’jg (@GOS()’]II trlangle_star J@ GS’B’)OO().’] S’BO?CS GI]O’J()EO’J@O’]II

* K K

c 00 ¢ c c oc c c
S’B(DOD@ 5 (\B GL](TJG) oC.\;{IC 3 C\?CS G?OO@JIG@II

def triangle star(stars):
for start in range(stars):
for star in range(start+l):
print("*", end="")

print("")

triangle star(5)

ec\gaqjc‘;:ef%s 2

C
GGQ§§0 tol|

ed]é:§[056@>(5mz o’]o&oaé MyMath class 000523093 ooéeeoo(f)o']u
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class MyMath:

def sum(self,x,y):
return x+y

def minus(self,x,y):
return x-y

def multiply(self,x,y):
return x*y

def division(self,x,y):

return x/y

math = MyMath()
print("4+3",math.sum(4,3))

(
print("4-3",math.minus(4,3))
print("4*3",math.multiply(4,3))
(

print("4/3",math.division(4,3))

c
GGS§§S JII

MyMath class o'f:) base QIDL@z MyMathExt a%ooé class 0% ezl J 00 | Q 00 09(73

61% (D@:Oio)ég()’]ll

class MyMath:
def sum(self,x,y):
return X+y
def minus(self,x,y):
return Xx-y
def multiply(self,x,y):
return x*y

def division(self,x,y):
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return x/y

class MyMathExt(MyMath):
def sqgaure(self,x):
return x**2
def three(self,x):

return x**3

math = MyMathExt()
print("4+3",math.sum(4,3))
print("4-3",math.minus(4,3))

print("4/3",math.division(4,3))

(

(
print("4*3",math.multiply(4,3))

(
print("4 square",math.sqaure(4))
(

print("4 power 3 is",math.three(4))
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class Stack:
def init (self):
self.items = []
def is empty(self):
return self.items == []
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def push(self, item):
self.items.append(item)
def pop(self):
return self.items.pop()
def peek(self):
return self.items[len(self.items) - 1]
def size(self):

return len(self.items)

def divideBy8(number):
remstack = Stack()

base = 8

while number > 0:
rem = number % base
remstack.push(rem)

number = number // base
binString = ""
while not remstack.is empty():

binString = binString + str(remstack.pop())

return binString

print(divideBy8(668))

c
668§q|$3 JII
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class Stack:
def init (self):
self.items = []
def is empty(self):
return self.items == []
def push(self, item):
self.items.append(item)
def pop(self):
return self.items.pop()
def peek(self):
return self.items[len(self.items) - 1]
def size(self):

return len(self.items)

def divideByl6(number):

https://blog.saturngod.net 247


https://blog.saturngod.net

Programming Basic (Saturngod) Draft version 1.1

remstack = Stack()

base = 16
while number > 0:

rem = number % base

if rem == 10:
rem = "A"

elif rem == 11:
rem = “B"

elif rem == 12:
rem = “C"

elif rem == 13:
rem = “D"

elif rem == 14:
rem = “E"

elif rem == 15:
rem = “F"

remstack.push(rem)

number = number // base
binString = ""
while not remstack.is empty():

binString = binString + str(remstack.pop())

return binString

print(divideBy16(987))

c
Geo§q|$o all

class Queue:
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def init (self):

self.items = []

def isEmpty(self):

return self.items == []

def enqueue(self, item):

self.items.insert(0,item)

def dequeue(self):

return self.items.pop()

def size(self):

return len(self.items)
g=Queue()
q.enqueue(12)
q.enqueue('dog')
q.enqueue(True)
print(q.dequeue())
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room = [{'Name': 'Aung Ko', 'Age': 7, 'Gender' : 'male'}, {'Name’:
‘Ko Ko', 'Age': 8, 'Gender' : 'male'},{'Name': 'Aye Aye', 'Age':
7, 'Gender' : 'female'},{'Name': 'Htet Htet', 'Age': 8, 'Gender'
'female'},{'Name': 'Win Aung', 'Age': 7, 'Gender' : 'male'}]
Answer:

room = [{'Name': 'Aung Ko', 'Age': 7, 'Gender' : 'male'}, {'Name’:
‘Ko Ko', 'Age': 8, 'Gender' : 'male'},{'Name': 'Aye Aye', 'Age':
7, 'Gender' : 'female'},{'Name': 'Htet Htet', 'Age': 8, 'Gender'
‘female'},{'Name': 'Win Aung', 'Age': 7, 'Gender' : 'male'}]

for obj in room:
if obj["Gender"] == "male":

print(obj["Name"])

JII SBGD(TSO{] code 036 room GSU)& g]G&)’D C\)(:“'Dggﬁ 0)0)60{]68 S'BOJ(TS(T% G(O’S@GCD’)
o 0 L [L L

(-

code eqz@of]u

Answer:

room = [{'Name': 'Aung Ko', 'Age': 7, 'Gender' : 'male'}, {'Name':
‘Ko Ko', 'Age': 8, 'Gender' : 'male'},{'Name': 'Aye Aye', 'Age':
7, 'Gender' : 'female'},{'Name': 'Htet Htet', 'Age': 8, 'Gender'
‘female'},{'Name': 'Win Aung', 'Age': 7, 'Gender' : 'male'}]

total age = 0

for obj in room:

total age = total age + obj["Age"]
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print(total age)
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class BinaryTree:

def  repr (self):

return "Binary Tree, Key is " + self.key

def init (self,root):
self.key = root
self.left child = None
self.right child = None
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def insert left(self,new node):
if self.left child == None:
self.left child = BinaryTree(new node)
else:
t = BinaryTree(new node)
t.left child = self.left child
self.left child = t

def insert right(self,new node):
if self.right child == None:
self.right child = BinaryTree(new node)
else:
t = BinaryTree(new node)
t.right child = self.right child
self.right child = t

def get right child(self):
return self.right child

def get left child(self):
return self.left child

def set root val(self,obj):
self.key = obj

def get root val(self):

return self.key

def search(self,value):
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root

if self !'= None:

if self.get left child() != None:
if self.get left child().search(value):

return True

if(self.get root val() == value):

return True

if self.get right child() !'= None:

if self.get right child().search(value):

return True

return False

BinaryTree("A")

root.insert left("B")

root.insert right("C")

b

root.get left child()

.insert left("D")

.insert right("E")

d = b.get left child()

.insert left("F")

.insert right("G")

found = root.search("F")
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if found :

print ("FOUND")
else:

print("NOT FOUND")
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class BinaryTree:

def  repr_(self):

return "Binary Tree, Key is " + self.key

def init (self,root):
self.key = root
self.left _child = None
self.right child = None

def insert left(self,new node):
if self.left child == None:
self.left child = BinaryTree(new node)
else:
t = BinaryTree(new node)

t.left child = self.left child
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self.left child = t

def insert right(self,new node):
if self.right child == None:
self.right child = BinaryTree(new node)
else:
t = BinaryTree(new node)
t.right child = self.right child
self.right child = t

def get right child(self):
return self.right child

def get left child(self):
return self.left child

def set root val(self,obj):
self.key = obj

def get root val(self):

return self.key

def search(self,value):
thislevel = [self]
while thislevel:
nextlevel = []
level = []
for n in thislevel:
if (n.get root val() == value):

return True
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level.append(n.get root val())

if n.get left child(

I= None:

Draft version 1.1

nextlevel.append(n.get left child())

if n.get right child()

)
(
(
(

I= None:

nextlevel.append(n.get right child())

thislevel = nextlevel

return False

root = BinaryTree("A")

root.insert left("B")

root.insert right("C")

b = root.get left child()

b.insert left("D")
b.insert right("E")

d = b.get left child()

d.insert left("F")
d.insert right("G")

found = root.search("H")

if found :
print("FOUND")

else:

print("NOT FOUND")
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function eqzoao:o’]u

class Node:
def init (self,value):
self.value = value

self.child = []

def  repr_(self):

return "Value is " + self.value

def insert child(self,node):

self.child.append(node)
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def get child(self):

return self.child

class Node:
def init (self,value):
self.value = value

self.child = []

def  repr (self):

return "Value is " + self.value

def insert child(self,node):

self.child.append(node)

def get child(self):

return self.child

def postorder(self):
if self != None:
if len(self.get child()) > 0O:
for child in reversed(self.get child()):
child.postorder()

print(self.value)

def preorder(self):
if self != None:
print(self.value)
if len(self.get child()) > 0O:
for child in self.get child():
child.preorder()
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root = Node("A")

b = Node("B")
¢ = Node("C")
d = Node("D")

root.insert child(b)
root.insert child(c)

root.insert child(d)

e = Node("E")
f = Node("F")
g = Node("G")

b.insert child(e)
b.insert child(f)

b.insert child(g)

=
[l

Node("H")
Node("I")

'_I.
[l

c.insert child(h)

c.insert child(1)

j = Node("J")
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d.insert child(j)

print("---- PRE OREDER ----")
root.preorder()
print("---- POST OREDER ----")

root.postorder()
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import re
text = "K/12344/32"

if re.match("[A-Z]\/[0-9]1{5}\/[0-9]{2}",text) == None:
print ('NOT MATCH")

else:
print("MATCH")

t. 'T“ C oo O I . o C [ o 90 o
Ji mention e3lo0p) 0O regular expression ¢ eelo[ggelesaocu @mgmg 39[90 6§
ooo:ooé meogo% html 32658, @%G@Jé:(ﬂe(ﬁu <a href="/username/

mgmg">@mgmg</a> :fe@ e«f)@eozcﬂeéu

import re

text = "@mgmg"

replacement = re.sub("@(.x)\sx","<a href=\"/username/\\1\">@\\1</

a>", text)

print(replacement)
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import re

text = "hello "code here’ world"

replacement = re.sub(" (.x) ","<code>\\1</code>", text)

print(replacement)
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